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1 #include <stdio.h>

int main ()

{

int amount, coinl0, coin5, coinl;

printf ("FHEAZ BB ") ;
scanf ("%d", &amount) ;
coinlO=amount/10;
coinb=(amount%10)/5;

coinl=( (amount%10)%5)/1;

printf ("H[REHALOTTHERE 24 {EH\n", coinlO0)
printf ("H[EHASTCEERE 2d {E\n", coinb) ;
printf ("HA[ AL CEERE 2d {E\n", coinl) ;
return 0;

#include <stdio.h>

int main ()

{

int amount, coinl0, coin5, coinl;

scanf ("%d", &amount) ;
coinlO=amount/10;

coinb=(amount%10)/5;

(
coinl=((amount%10)%5)/1;
printf ("%$d\n",coinl0) ;
printf ("%$d\n",coinb) ;
printf ("$d\n",coinl) ;

return 0;
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2 #include <stdio.h>
#define PI 3.14159
int main ()

{

double r, volume, area;

printf ("FHFEAFLL ") ;

scanf ("%$1f", &r) ;
volume=4.0/3.0*PI*r*r*r;
area=4.0*PI*r*r;

printf ("EKESHEFE &% .2f\n", volume) ;
printf ("FHEAS.2f\n", area) ;
return 0;

& 22 A
#include <stdio.h>
#define PI 3.14159
int main ()

{

double r, volume, area;

scanf ("$1f", &r);
volume=4.0/3.0*PI*r*r*r;
area=4.0*PI*r*r;

printf ("%$.2f\n",volume) ;
printf ("%$.2f\n", area);

return 0;
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3 #include <stdio.h>
#include <math.h>
int main ()
{
double x1, vyl, x2, y2, distance, slope;

printf ("FHEAZ 1B (x1,y1) 1)

scanf ("%$1f,%1f", &x1,&yl);

printf ("FHEAZ 2 BB (x2,y2) 1 ") ;

scanf ("S$1f,%1f", &x2,&y2);
distance=sqgrt ((x2-x1)* (x2-x1)+(y2-y1)* (y2-y1));
slope=(y2-y1l)/ (x2-x1) ;

printf ("FELAVFEEE=%.2f\n", distance) ;

printf ("FAEEIREE=%.2f\n", slope) ;

return 0;

& 3k A
#include <stdio.h>
#include <math.h>
int main ()
{
double x1, vyl, x2, y2, distance, slope;

scanf ("$1f,%1f", &x1,&yl);

scanf ("S$1f,%1f", &x2,&y2);
distance=sqgrt ((x2-x1)* (x2-x1)+(y2-y1)* (y2-y1));
slope=(y2-yl)/ (x2-x1);

printf ("%$.2f\n",distance);

printf ("%.2f\n",slope) ;

return 0;
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4 #include <stdio.h>
#include <math.h>
int main ()

{
int a, b;

double result;

printf ("EEEABIE A:") ;

'sd", &a) ;
printf ("FEWABEB:");
scanf ("%sd", &b) ;
result=(double)a/ (double)b*100;
printf ("AEBHY%.4£%%\n", result) ;

return 0;

scanf ('

& 22 A
#include <stdio.h>
#include <math.h>
int main ()
{
int a, b;

double result;

scanf ("%d", &a) ;

scanf ("%d", &b) ;
result=(double)a/ (double)b*100;
printf ("%.4£%%\n", result);

return 0;
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5 #include <stdio.h>
int main ()
{
int %, vy, a, b, r;
printf ("FHWASR T A" ;
scanf ("%$d%d", &a, &b) ;
if (b==0) {
printf ("rRERE]E O") ;
return 0;
}
X=a;
y=b;
while (y!=0)
{
r=x%y;
X=y;
y=r;
}
a=a/x;
b=b/x;
printf (LR A $d $d\n",a,Db) ;
return 0;

}

#include <stdio.h>
int main ()
{
int x, vy, a, b, r;
scanf ("%$d%d", &a, &b) ;
if (b==0) {
printf ("Q0"™);
return 0;
}
X=a;
y=b;
while (y!=0)
{
r=x%y;
X=Y;
y=r;
}
a=a/x;
b=b/x;
printf ("%d %d\n",a,b);
return 0;
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6 #include<stdio.h>
int main ()
{
int 1i;
for (1=40;1i<128; i++) {
printf ("ASCITI:%d = %c \n",i,1i);
}

return 0;
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7 #include <stdio.h>
#include <math.h>
int main ()

{
int x, vy

double z;

printf ("FWA <H ")

scanf ("%d", &x);

printf ("FHBWA vE ")

scanf ("%d", &y) ;

z= (X*x*x*y-4* (x*x*y+y*y*y)) /sqrt (x*y-1);
printf ("x=%d\n", x) ;

printf ("y=%d\n",vy) ;

printf ("z=%f\n", z);

return 0;

& 3k A
#include <stdio.h>
#include <math.h>
int main ()

{
int x, vy;
double z;

scanf ("%d", &x) ;

scanf ("%d", &y) ;

z= (X*x*x*y-4* (x*x*y+y*y*y)) /sqrt (x*y-1);
printf ("%d\n", x) ;

printf ("sd\n",vy);

printf ("$f\n", z);

return 0;
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8 #include <stdio.h>
#include <math.h>
int main ()
{
double kilometer, bill;

printf ("FAREE ")
scanf ("$1f", &kilometer);
if(kilometer<=2.0)

bill=100;
else

bil11=100+floor ((kilometer-2.0)/0.5)*5;
printf ("EHMEREHEE /. 0£T\n", bill);
return 0;

#include <stdio.h>
#include <math.h>
int main ()
{
double kilometer, bill;

scanf ("$1f", &kilometer);
if(kilometer<=2.0)

bill=100;
else

bil11=100+floor ((kilometer-2.0)/0.5)*5;
printf ("%$.0f\n",bill);

return 0;
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9 #include <stdio.h>
int main ()
{
int i,s=0, n;
printf ("FEEIA nHYE ")
scanf ("%d", &n) ;
for (i=1;i<n;i++) {
s+=1;
printf ("$d+",1i);
}
s+=n;
printf ("$d=%d",n, s);

return 0;

#include <stdio.h>
int main ()
{
int i,s=0, n;
scanf ("%d", &n) ;
for (i=1;i<n;i++) {
s+=1i;
printf ("%d+",1i);
}
s+=n;
printf ("$d=%d",n, s);

return 0;
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10 #include <stdio.h>

int main ()

{

int 1, j=1, s=0, n;
do{

printf ("FEEIARE ")

scanf ("%d", &n) ;

} while(n<0 || n%2==0);

for (i=1; i<=n; i+=2)
{
s=s+(i*1)*73;
j=3*-1;
}
printf ("s= %d\n",s);

return 0;

#include <stdio.h>

int main ()

{

int 1, j=1, s=0, n;
do{

scanf ("%d", &n) ;

} while(n<0 || n%2==0);

for (i=1; i<=n; i+=2)
{
s=s+(1*1)*7;
j=3*-1;
}
printf ("%d\n", s);

return 0;
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11 #include <stdio.h>

#include <math.h>

double sum(int);

int main()

{
int n;
printf ("FHEA—(EEEn ") ;
scanf ("%d", &n) ;
printf ("ZHEA ZEER=%E\n", sum(n)) ;
return 0;

double sum(int n)
{
int i;
double s=0;
for (i=1; i<=n,; i++)
s=s+pow (-1,1+1)/ (double) i;
return s;
}
& 3k A
#include <stdio.h>
#include <math.h>
double sum(int);
int main ()
{
int n;
scanf ("%d", &n) ;
printf ("$f\n",sum(n)) ;

return 0;

double sum(int n)
{
int 1i;
double s=0;
for (i=1; i<=n; i++)
s=s+pow (-1,1+1)/ (double) i;

return s;
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12 #include <stdio.h>
int main ()
{
int i, n, sum=0;
printf ("EA n {H:");
scanf ("%d", &n);
for (i=2; i<=n; i++)
sum=sum+ (1-1) *i;
printf ("1*2+2*3+3*4+...+(n-1) *n=%d", sum);

return 0;

& X A
#include <stdio.h>
int main ()
{
int i, n, sum=0;
scanf ("%d", &n);
for (1i=2; 1i<=n; 1i++)
sum=sum+ (i-1) *i;
printf ("$d", sum);

return 0;
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13 #include <stdio.h>

int main ()

{
int n=0, s=0, k;
printf ("EAKE ") ;
scanf ("%d", &k) ;
while (s<=k)

s+=++n;

printf ("n=%d\n",n) ;

return 0;

& 3k A
#include <stdio.h>
int main ()
{
int n=0, s=0, k;
scanf ("%d", &k) ;
while (s<=k)
S+=+4n;
printf ("%d\n",n);

return 0;
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14 #include <stdio.h>
int main ()
{
int i, n, data, sum=0;
float avg;
printf ("G An{E 1 ") ;
scanf ("%d", &n);
for (i=1; i<=n; i++){
printf ("BAL $d {HEH ", 1);
scanf ("%d", &data);
sum = sum + data;
}
avg=(float)sum/n;
printf ("EHEEE $.2f ", avqg);

return 0;

& xR A
#include <stdio.h>
int main ()
{
int i, n, data, sum=0;
float avg;
scanf ("%d", &n);
for (i=1; i<=n; i++){
scanf ("%d", &data);
sum = sum + data;
}
avg= (float) sum/n;
printf ("$.2f ", avg);

return 0;
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15 #include <stdio.h>
int main ()
{
int i, n;
printf ("FHHA—(EERE ") ;
scanf ("%d", &n) ;
printf ("HKXHEAE ") ;
for (i=1; i<=n/2; i++)
if (n%$i==0)
printf ("$d\t",1);
printf ("%d\n",n);

return 0;

& 3k A
#include <stdio.h>
int main ()
{
int i, n;
scanf ("%d", &n) ;
for (i=1; i<=n/2; i++)
if (n%i==0)
printf ("sd\t",1i);
printf ("%d\n",n);

return 0;
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16 #include <stdio.h>
int main ()
{

int s, k;

printf ("EA 1 E/NR 100 HIEEEY : ") ;
scanf ("3d", &k) ;
while(k <= 0 || k >= 100){
printf ("FHEHH AN 100 IIERE") ;
scanf ("3d", &k) ;
}
for(s=k ; s<=500 ; s+=k)
printf("sd ",s);

return 0;

#include <stdio.h>
int main ()
{

int s, k;

scanf ("%d", &k) ;
while(k <= 0 || k >= 100) {
scanf ("%d", &k) ;
}
for (s=k ; s<=500 ; s+=k)
printf("%d ",s);

return 0;

F16 H-H 172 H



17 #include <stdio.h>
int main ()

{

int tsec, hour, minute, second;

printf ("FHHEAEFHEIRAIE:") ;

scanf ("%d", &tsec) ;

second=tsec%60;

minute=(tsec/60)%60;

hour=tsec/60/60;

printf ("hh:mm:ss = %02d:%02d:%02d\n", hour,minute, second) ;

return 0;

#include <stdio.h>
int main ()

{

int tsec, hour, minute, second;

scanf ("%d", &tsec) ;

second=tsec%60;

minute=(tsec/60)%60;

hour=tsec/60/60;

printf ("%$02d:%02d:%02d\n", hour, minute, second) ;

return 0;
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18 #include <stdio.h>
int main ()

{

int now h, now m, end h, end m, hour, minute;

printf ("HAIRE ") ;

scanf ("%d:%d", &now_h, &now m) ;
printf ("4EHEGRH 1 ") ;

scanf ("%d:%d", &end h, &end m) ;
hour = end h - now h;

minute = end m - now m;
if (minute < 0) {
minute = minute + 60;
hour = hour - 1;

}
if (hour < 0) hour = hour + 24;

printf ("FIT");

if (hour != 0){
printf ("$A/NEE", hour) ;
if (minute != 0)

printf ("$d53§E", minute) ;
}
else
printf ("$d53§E", minute) ;
return 0;

}

#include <stdio.h>
int main ()

{
int now h, now m, end h, end m, hour, minute;
scanf (" d", &now h, &now m) ;
scanf (" d", &end h, &end m) ;
hour = end h - now h;
minute = end m - now m;
if (minute < 0) {
minute = minute + 60;
hour = hour - 1;

$d: %
$d: %

}

if (hour < 0) hour = hour + 24;

if (hour != 0){
printf ("$d ", hour);
if (minute != 0)

printf ("$d ",minute);

}
else

printf ("$d ",minute);
return O;
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19 #include <stdio.h>
int main ()
{
int timel h, timel m, time2 h, time2 m, day=0, hour, minute;
printf ("HFRHL ") ;
scanf ("%d:%d", &timel h, &timel m);
printf ("HERH2 1 ") ;
scanf ("%d:%d", &time2 h, &timeZ m) ;
hour=timel h+time2 h;
minute=timel m+time2 m;
if (minute >= 60) {
minute = minute - 60;
hour = hour + 1;
}
if (hour >= 24){
day = hour / 24;

o)

hour = hour % 24;

}
printf ("FENIEFEA")
if(day != 0) {
printf ("$dK", day):
printf ("$d/NEE", hour) ;
}else if (hour != 0)
printf ("$d/NEE", hour) ;
printf ("$d5rEE", minute);
return 0;

}

#include <stdio.h>
int main ()
{
int timel h, timel m, time2 h, time2 m, day=0, hour, minute;
scanf ("%d:%d", &timel h, &timel m);
scanf ("%d:%d", &time2 h, &timeZ m) ;
hour=timel h+time2 h;
minute=timel m+time2 m;
if (minute >= 60) {
minute = minute - 60;
hour = hour + 1;
}
1f (hour >= 24) {
day = hour / 24;
hour = hour % 24;
}
if(day !'= 0) {
printf ("sd ", day);
printf ("$d ", hour);
}else if (hour != 0)
printf ("$d ", hour);
printf ("$d ", minute);
return 0;
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20 #include <stdio.h>

int main ()

{
int start,end,start y,start m,start d,end y,end m,end d;
int months[]={0,31,59,90,120,151,181,212,243,273,304,334,365};
int days, temp;
printf ("HHAL : ™) ;
scanf ("%d", &start) ;
printf ("HHA2 : ") ;
scanf ("%d", &end) ;
if (start>end) {

temp=start;

start=end;

end=temp;

}
start y=start/10000;
start=start%10000;
start m=start/100;
start d=start%100;
end y=end/10000;
end=end%10000;
end m=end/100;
end d=end%100;
if (start y==end y) {
if (start m==end m) {
days=end d-start d;
printf ("fHZE%dK\n",days) ;

}else{
days=months[end m-1]+end d-months[start m-1]-start d;
printf ("fHZE%dK\n",days) ;

}

}elsef

days=(365-months[start m-1]-start d);

days+=365* (end y-start y-1);

days+=months[end m-1]+end d;

printf ("fHZE%dK\n",days) ;

}

return 0;
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#include <stdio.h>
int main ()
{
int start,end,start y,start m,start d,end y,end m,end d;
int months[]={0,31,59,90,120,151,181,212,243,273,304,334,365};
int days, temp;
scanf ("%d", &start) ;
scanf ("%d", &end) ;
if (start>end) {

temp=start;

start=end;

end=temp;

}

start y=start/10000;
start=start%s10000;
start m=start/100;
start d=start%100;
end y=end/10000;
end=end%10000;

end m=end/100;

end d=end%100;

if (start y==end y) {

if (start m==end m) {
days=end d-start d;
printf ("%d\n",days) ;

}elsef
days=months[end m-1]+end d-months[start m-1]-start d;
printf ("%d\n",days) ;

}

}elsef

days=(365-months[start m-1]-start d);

days+=365* (end y-start y-1);

days+=months[end m-1]+end d;

printf ("%d\n",days) ;

}

return 0;
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21 #include <stdio.h>
#include <string.h>

int main ()

{

char strl[21], str2([21];
printf ("HHATE L") ;
gets(strl);
printf ("HHATE 2 ") ;
gets (str2);
if(strcmp(strl,str2)==0)
printf ("$d",strlen(strl));
else
printf ("0");

return 0;

#include <stdio.h>

#include <string.h>

int main ()

{

char strl[21], str2([21];
gets (strl);
gets (str2);
if (strcmp(strl,str2)==0)
printf ("$d",strlen(strl));
else
printf ("0™);

return 0;
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22 #include <stdio.h>
#include <math.h>
int main ()
{
double x1, x2, h, s;

printf ("EEEIA x1{EH ") ;
scanf ("%$1f", &x1) ;
printf ("EEEIA x2{H ") ;
scanf ("$1£f", &x2) ;
h=(x2-x1)/2.0;

s=h/3* (exp (x1) / (x1*x1+1)+4*exp (x1+h) / ((x1+h) * (x1+h) +1) +exp (x2) /
(x2*x2+1)) ;
printf ("S=%f\n", s);

return 0;

& 22 A
#include <stdio.h>
#include <math.h>
int main ()
{
double x1, x2, h, s;

scanf ("%$1f", &x1) ;
scanf ("%$1f", &x2);
h=(x2-x1)/2.0;

s=h/3* (exp (x1) / (x1*x1+1)+4*exp (x1+h) / ((x1+h) * (x1+h) +1) +exp (x2) /
(x2*x2+1)) ;
printf ("$£\n",s);

return 0;
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23 #include <stdio.h>
#include <math.h>
double fun (double,double);
int main ()
{

double x;

printf ("EEHAx (x>0){H ") ;

scanf ("$1f", &x);

printf ("h=10"-1 , {WSH{E=%f\n", fun (x,pow (10,-1)));
printf ("h=10"-2 , {WSH{E=%f\n", fun (x,pow (10,-2)));
printf ("h=10"-3 , {WHH{E=%f\n", fun (x,pow (10,-3)));

return 0;

double fun (double x, double h)

{
return (log(x+h)-log(x))/h;

& 3k A
#include <stdio.h>
#include <math.h>
double fun (double,double);
int main ()

{

double x;

scanf ("%$1f", &x) ;

printf ("$f\n", fun (x,pow (10,-1))) ;
printf ("$f\n", fun (x,pow (10,-2))) ;
printf ("$f\n", fun (x,pow (10,-3))) ;

return 0;

double fun (double x, double h)

{
return (log(x+h)-log(x))/h;
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24 #include <stdio.h>
#include <math.h>
int main ()
{
double a, b, ¢, perimeter, s, area;
printf ("FHEA=(EEE ") ;
scanf ("$1£%$1£$1£f", &a, &b, &c) ;
if((a>0 && b>0 && c>0) && (atb>c && atc>b && b+c>a))
{
perimeter=a+b+c;
s=(a+b+c) /2;
area=sgrt(s*(s—-a)*(s-b) *(s-c));
printf ("=AFHEE=%f\n", perimeter) ;
printf ("=AFHIHEE=%f\n", area) ;
}
else
printf ("= {EHEREBR =AP=58\n") ;

return 0;

& 3k A
#include <stdio.h>
#include <math.h>
int main ()
{
double a, b, ¢, perimeter, s, area;
scanf ("$1£%$1£$1£f", &a, &b, &c) ;
if((a>0 && b>0 && c>0) && (atb>c && atc>b && b+tc>a))
{
perimeter=at+b+tc;
s=(a+b+c) /2;
area=sgrt (s* (s—a) * (s-b) * (s-c));
printf ("$f\n",perimeter) ;
printf ("$f\n", area);
}
else
printf ("0\n");

return 0;
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25 #include <stdio.h>
int main ()
{

int quantity, salary;

printf ("FEATHEHESNEE ") ;

scanf ("%d", &quantity);

if (quantity<=20)
salary=15000+quantity*380;

else if (quantity<=40)
salary=15000+quantity*420;

else
salary=15000+quantity*420+ (quantity-40)/10*1500;

printf ("EAHEE%A T\n",salary) ;
return O;

#include <stdio.h>
int main ()
{

int gquantity, salary;

scanf ("%d", &quantity) ;

if (quantity<=20)
salary=15000+quantity*380;

else 1f (quantity<=40)
salary=15000+quantity*420;

else
salary=15000+quantity*420+ (quantity-40)/10*1500;

printf ("%d\n",salary) ;

return 0;
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26 #include <stdio.h>
int main ()
{
int ¢=0, i=1, no, p:;
printf ("FHHA—(EERE ") ;
scanf ("%d", &no) ;
p=no;
while (p—-1>=0)
{
p=p-1i;
C++;
i=i+2;
}
printf ("%$d HYE AR A $d\n",no,c);

return 0;

& xR A
#include <stdio.h>
int main ()
{
int ¢=0, i=1, no, p;
scanf ("%d", &no) ;
p=no;
while (p—-1>=0)
{
p=p-1i;
C++;
i=1i+2;
}
printf ("%d\n",c);

return 0;
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27 #include <stdio.h>
#include <math.h>
int main ()
{
int start hour, start min, end hour, end min;
int total, fee;

printf ("{EEBHLEIRE 0 ") ;

scanf ("%d:%d", &start hour, &start min);
printf ("{EHELEREFE ") ;

scanf ("%d:%d", &end_hour, &éend min) ;

total=(int)ceil (((end hour*60+end min) - (start hour*60+start min
))/30.0);
if (total<=4)
fee=total*30;
else if(total<=8)
fee=4*30+ (total-4) *40;
else
fee=4*30+4*40+ (total-8) *60;
printf ("FHHANEFEE KA JT\n", fee) ;
return 0;

}

#include <stdio.h>

#include <math.h>

int main ()

{
int start hour, start min, end hour, end min;
int total, fee;

scanf ("%d:%d", &start hour, &start min);
scanf ("%d:%d", &end_hour, &éend min) ;

total=(int)ceil (((end hour*60+end min) - (start hour*60+start min
))/30.0);
if (total<=4)
fee=total*30;
else if(total<=8)
fee=4*30+ (total-4) *40;
else
fee=4*30+4*40+ (total-8) *60;
printf ("%d\n", fee);
return 0;
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28 #include <stdio.h>
int main ()
{
int category, number, power;
double bill;

printf ("FEEAHEER] (1~3) 1 ") ;
scanf ("%d", &category) ;
printf ("I AEHEE ") ;
scanf ("%d", &number) ;
switch (category)
{
case 1:
if (number<=100)
bill=number*2.4;
else if (number<=300)
bill=100*2.4+ (number-100) *3.1;
else
bill=100*2.44200*3.1+ (number-300)*4.1;
break;
case 2:
printf ("FEAFLIES ") ;
scanf ("%d", &power) ;
bill=power*138+number*1.83;
break;
case 3:
if (number<=300)
bill=number*5.9;
else
b111=300*5. 9+ (number-300) *6.7;
}
printf ("EE=%f jr\n",bill);
return 0;

}
""?f‘i'ﬁ:ﬂ\
finclude <stdio.h>
int main ()
{
int category, number, power;
double bill;

scanf ("%d", &category) ;
scanf ("%d", &number) ;
switch (category)
{
case 1:
if (number<=100)
bill=number*2.4;
else if (number<=300)
bill=100*2.4+ (number-100) *3.1;
else
bill=100*%2.44200*3.1+ (number-300)*4.1;
break;
case 2:
scanf ("%d", &power) ;
bill=power*138+number*1.83;
break;
case 3:
if (number<=300)
bill=number*5.9;
else
b111=300*5.9+4 (number-300) *6.7;
}
printf ("$f\n",bill);
return 0;
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29 #include <stdio.h>
int main ()
{
int month;
printf ("FWAHG © ")
scanf ("%d", &month) ;
switch (month) {
case 3: case 4: case 5:
printf ("HZE\n"); break;
case 6: case 7: case 8:
printf ("EZE\n"); break;
case 9: case 10: case 11:
printf ("FkZFE\n"); break;
case 12: case 1l: case 2:
printf ("4Z\n"); break;
default:
printf ("#AFHER\D") ;
}
return 0;
}
& xR A
#include <stdio.h>
int main ()
{
int month;
scanf ("%d", &month) ;
switch (month) {
case 3: case 4: case 5:
printf ("HZE\n"); break;
case 6: case 7: case 8:
printf ("EZE\n"); break;
case 9: case 10: case 11:
printf ("FkZFE\n"); break;
case 12: case 1l: case 2:
printf ("4Z\n"); break;
default:
printf ("#AFHER\D") ;
}

return 0;
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30 #include <stdio.h>
int main ()
{
int i;
char string[1024], ch;

printf ("AFE ") ;
scanf ("%$s", string);
printf ("4mHHE L") ;
i=0;
while (string[i]!="\0") {
ch=stringl[i];
if(ch>="A'" && ch<='Z")
string[i]="'A'+'Z'-ch;
else
stringf[i]='a'+'z'-ch;
i++;
}
printf ("$s", string);
return 0;

#include <stdio.h>
int main ()
{
int 1i;
char string[1024], ch;

scanf ("%$s", string);
i=0;
while (string[i]!="\0") {
ch=stringl[i];
if (ch>="A'" && ch<='2")
string[i]='A'+'Z'-ch;

else
stringfi]='a'+'z'-ch;
i++;
}




[+ 233 4250]

31 #include <stdio.h>
int main ()
{
int i, max, min, data;
printf ("FASLEEEE - ") ;
scanf ("%d", &data);
max = min = data;
for (i=2; i<=10; 1i++) {
printf ("FAESAMEEEE ", 1)
scanf ("%d", &data);
if (data > max)
max = data;
else if (data < min)
min = data;
}
printf (" AEASA\n", max);
printf ("H/MEASA\n", min);

return 0;

& xR A
#include <stdio.h>
int main ()
{
int i, max, min, data;
scanf ("%d", &data);
max = min = data;
for (i=2; i<=10; i++) {
scanf ("%d", &data);
if (data > max)
max = data;
else if (data < min)
min = data;
}
printf ("%$d\n", max);
printf ("$d\n", min);

return 0;
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32 #include <stdio.h>
int main ()
{
int 1,3, al[l0], k, ans=0;
for (i=0; 1i<=9; i++){
printf ("EAZ A EEE ", i+1);
scanf ("%d", &alil);
}
printf ("EAK{H ")
scanf ("%d", &k);
for (i=0; i<=8; i++)
for (J=1i+1; j<=9; Jj++)
if(alil+alj]l == k) {
printf (" (%d, %d)\n", alil, aljl):
ans=1;
}
if (ans==0) printf("0", k);
return 0;
}
& xR A
#include <stdio.h>
int main ()
{
int 1,3, al[l0], k, ans=0;
for (i=0; 1i<=9; i++){
scanf ("sd", &alil);
}
scanf ("%sd", &k);
for (1=0; 1<=8; 1i++)
for (J=i+1; 3<=9; Jj++)
if(alil+alj]l == k) {
printf ("%$d %d\n", alil, aljl);
ans=1;
}
if (ans==0) printf("0");

return 0;
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33 #include <stdio.h>
int MaxSubsequenceSum(int al[], int n)
{
int sum, maxsum, i;
sum = maxsum = 0;
for(i = 0; i < n; i++){
sum += al[i];
if (sum > maxsum)

maxsum = sum;
else if(sum < 0)
sum = 0;

}

return maxsum;

int main ()
{
int i, afll0];
for (1i=0; 1<=9; 1i++){
printf ("EAZ A EEE ", i+1);
scanf ("%d", &alil);
}
printf (" AHE T FEYIM A%d ", MaxSubsequenceSum(a, 10));
return 0;

}

#include <stdio.h>
int MaxSubsequenceSum(int al[], int n)
{
int sum, maxsum, 1i;
sum = maxsum = 0;
for(i = 0; 1 < n; i++){
sum += al[i];
if (sum > maxsum)

maxsum = sum;
else if(sum < 0)
sum = 0;

}

return maxsum;

int main ()
{
int 1, af[10];
for (1i=0; 1<=9; 1i++4){
scanf ("%d", &alil);
}
printf ("$d ", MaxSubsequenceSum(a, 10));
return 0;
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34 #include <stdio.h>
#include <string.h>
int main ()
{
int i,3j,length;
char s[10017];
printf ("FAFE ") ;
scanf ("%s",s);
length = strlen(s);
for (i=0;i<length;i++) {
for (3=0;j<i;j++)
if(s[i]==s[]]) Dbreak;
if(j==1) printf("sc", s[i]):;
}

return 0;

& 3k A
#include <stdio.h>
#include <string.h>
int main ()
{
int i,3j,length;
char s[1001];
scanf ("%s",s);
length = strlen(s);
for (i=0;i<length;i++) {
for (3=0;3<i;Jj++)
if(s[i]==s[3]]) Dbreak;
if(j==1) printf("%c", sl[il]);
}

return 0;
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35 #include<stdio.h>
#include<string.h>
int main (void)
{
char s[81];
int i,3j, length;
printf ("FAFE ") ;
scanf ("%s", s);
length=strlen(s);
for (i=0;i<length;i++) {
for (j=length-i-1;j<length; j++)
printf ("%c",s[3]);
printf ("\n");
}

return 0;

& xR A
#include<stdio.h>
#include<string.h>
int main (void)
{
char s[81];
int i,3j, length;
scanf ("%s", s);
length=strlen(s);
for (i=0;i<length;i++) {
for (j=length-i-1;j<length; j++)
printf ("%c",s[j]);
printf ("\n");
}

return 0;
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36 #include <stdio.h>
#include <string.h>
#define SWAP(x,y) t=(x); (x)
#define N 33
#define Blen 4

Il
=
g

Il

o+

void encode (char*);

int main (void)

{
char datal[N];
printf("ﬁ%%:ﬁﬁi5'w;
scanf ("%$s", &data) ;
encode (data) ;
printf ("%s",data);

return 0;

volid encode (char datal])
{
int digit,i,Jj,t,len,zerolen;
len=strlen (data);
if (len%Blen != 0) {
zerolen=Blen-len%Blen;
for (1i=0;1i<zerolen; i++)
data[len++]='0";
data[len]="'\0";
}
for(i=0;data[i]!'="'\0";1i+=Blen) {
for (j=0;j<Blen;j++) {
digit=data[it+3j]-'0";
digit=(digit+5)%10;
data[i+3j]=digit+'0"';
}
SWAP (data[i+0],datal[i+2]);
SWAP (data[i+1],data[i+3]);
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#muE &
#include <stdio.h>
#include <string.h>
#define SWAP(x,y) t=(x); (x)
#define N 33
#define Blen 4

Il
=
=

|
o+

void encode (char*);

int main (void)

{
char datal[N];
scanf ("%$s", &data) ;
encode (data) ;
printf ("%ss",data);

return 0;

void encode (char datal])
{
int digit,i,]j,t,len,zerolen;
len=strlen (data);
if (len%Blen != 0) {
zerolen=Blen-len%Blen;
for (1i=0;1i<zerolen; i++)
data[len++]='0";
data[len]="\0";
}
for(i=0;data[i]!'='\0";1i+=Blen) {
for (j=0;j<Blen;j++) {
digit=data[it+3j]-'0";
digit=(digit+5)%10;
data[i+3j]=digit+'0"';
}
SWAP (data[i+0],datal[i+2]);
SWAP (data[i+1l],data[i+3]);
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37 #include <stdio.h>
void insert sort(int*, int);
int main ()
{
int i, n, number[100];
printf ("EAn{EH ")
scanf ("%d", &n) ;

printf ("FFHEFER ") ;
for(i = 0; i < n; i++)
scanf ("%d", &number[il]);
printf ("PEFEFE\n") ;
insert sort (number, n);
printf ("HEF&EE ") ;
for(i = 0; 1 < n; i++)
printf ("$d ", number[i]);

return 0;

void insert sort(int *a, int n)
{
int i, j, key;
for (i=1;i<n;i++) {
key=al[i];
for (j=1-1;3>=0 && key<aljl;j--)
alj+ll=aljl;
aljtl]=key;
printf ("pass %d: ",1i);
for (3=0;j<n;j++) printf("%d ",aljl);
printf ("\n");
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#include <stdio.h>
void insert sort (int*, int);
int main ()
{
int i, n, number[100];

scanf ("%d", &n) ;

for(i = 0; 1 < n; 1i++)
scanf ("%d", &number[i]);
insert sort (number, n);
for(i = 0; 1 < n; 1i++)
printf ("$d ", number[i]);

return 0;

void insert sort(int *a, int n)
{
int i, j, key;
for (i=1;i<n;i++) {
key=al[i];
for (j=1i-1;3>=0 && key<aljl;j--)
alj+ll=aljl;
aljtl]=key;
for (3=0;j<n;j++) printf("%d ",aljl);
printf ("\n");
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38 #include <stdio.h>

void bubble sort (int *, int);

void swap (int *, int¥*);

int main()

{
int i, number[100], n;
printf ("EAn{EH ")
scanf ("%d", &n);
printf ("FFHEFER ™) ;
for (i=0;i<n;i++) scanf ("%d", &number[i]);
printf ("PEFEE\n") ;
bubble sort (number, n);
printf ("FEFPEESE 1 ") ;
for (1i=0;i<n;i++) printf("sd ", number[i]):;

return 0;

void bubble sort(int al[], int n)
{
int i, j, flag=l;
for(i=1; i<n && flag==1; i++) {
flag=0;
for (3=0;j<n-1i;j++)
if(aljl>alj+1]){
swap (&a[jl, &al[Jj+1l]);
flag=1l;
}
printf ("Pass %d:",1);
for (3=0;j<n;j++) printf("%d ",aljl);
printf ("\n");

void swap (int *x, int *y)
{

int temp;

temp=*x;

*X:*y;

*y=temp;
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& X A

#include <stdio.h>

void bubble sort (int *, int);

void swap (int *, int¥*);

int main ()

{
int i, number[100], n;
scanf ("%d", &n);
for (i=0;i<n;i++) scanf ("%d", &number[i]) ;
bubble sort (number, n);
for (1i=0;i<n;i++) printf ("sd ", number[i]):;

return 0;

void bubble sort(int al[], int n)
{
int i, j, flag=1l;
for(i=1; i<n && flag==1l; i++) {
flag=0;
for (3=0;j<n-1i;3j++)
if(aljl>alj+1]){
swap (&aljl, &alJj+1]);
flag=1l;
}
for (3j=0;j<n;j++) printf("%sd ",aljl):
printf ("\n");

void swap (int *x, int *y)
{

int temp;

temp=*x;

*X:*y;

*y=temp;
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39 #include <stdio.h>
void insert sort des(int*, int);
int main ()
{
int number[100],i,n,label;
printf ("EAFEAE ") ;
scanf ("%d", &n) ;
for (1=0;1i<n;i++) {
printf ("EAFAERRLE T ") ;
scanf ("%d", &number[i]);
}
insert sort des (number,n);
label=number|[ (n-1)/2];
printf ("HEMEHYFAMLE ") ;
for(i = 0; i<n && number[i] >= label;
printf ("$d ", number[i]);

return 0;

void insert sort des(int *a, int n)
{
int 1, j, key;
for(i=1;i<n;i++) {
key=al[1i];
for(j=1i-1;3>=0 && key>aljl;j—--)
alj+ll=aljl;
aljtl]=key;
}

return;
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& 3k A
#include <stdio.h>
void insert sort des(int*, int);
int main ()
{
int number[100],i,n,label;
scanf ("%d", &n) ;
for (i=0;1i<n; i++)
scanf ("%d", &number[i]);
insert sort des (number,n);
label=number[ (n-1)/2]1;
for(i = 0; i<n && number[i] >= label;
printf ("$d ", number[i]);

return 0;

void insert sort des(int *a, int n)
{
int 1, j, key;
for(i=1;i<n;i++) {
key=al[i];
for(j=1i-1;3>=0 && key>aljl;j—--)
alj+ll=aljl;
aljtl]=key;
}

return;
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40 #include <stdio.h>
#include <stdio.h>
int search(int *, int, int);
int main ()
{
int number[100],c[100]={0},n, i, index,max=0;
printf ("EAERE n");
scanf ("%d", &n) ;
printf ("gAER ") ;
for (1=0;i<n; i++) {
scanf ("%d", &number[i]) ;
index=search (number, i, number[i]) ;
cl[index]++;
if (c[index]>max)
max=c[index];
}
printf ("RE ")
for(i = 0; i<n ; i++)
if(c[i]==max)
printf ("$d ", number[i]);

return 0;

int search(int a[], int size, int key)
{
int 1i;
for (i=0;i<size;i++)
if (key==alil)
return i;

return size;
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#include <stdio.h>
int search(int *, int, int);
int main ()
{
int number[100],c[100]={0},n,1i, index,max=0;
scanf ("%d", &n) ;
for (1i=0;1i<n; i++) {
scanf ("%d", &number[i]);
index=search (number, i, number[i]) ;
clindex]++;
if (c[index]>max)
max=c[index];
}
for(i = 0; i<n ; 1++)
if(c[i]==max)
printf ("$d ", number[i]);

return 0;

int search(int a[], int size, int key)
{
int 1i;
for (i=0;i<size;i++)
if (key==alil)
return i;

return size;
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41 #include <stdio.h>
void insert sort(int*, int);
int main ()
{
int number[21],i=0,n;

printf ("FEEIAEIE  \n");

do{

scanf ("%d", &énumber [i++]) ;
} while (number[i-1]!=-999);
n=i-1;

insert sort (number,n);
for(i = 0; 1 < n; 1i++4)
printf ("$d ", number[i]);

return 0;

void insert sort(int *a, int n)
{
int i, j, key;
for (i=1;i<n;i++) {
key=al[i];
for(j=i-1;3>=0 && key<aljl;j—--)
alj+ll=aljl;
aljtl]=key;
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#include <stdio.h>
void insert sort (int*, int);
int main ()
{

int number[21],i=0,n;

do{

scanf ("%d", &number [i++]) ;
} while (number[i-1]!=-999);
n=i-1;

insert sort (number,n);
for(i = 0; 1 < n; 1i++)
printf ("$d ", number[i]);

return 0;

void insert sort(int *a, int n)
{
int i, j, key;
for (i=1;i<n;i++) {
key=al[i];
for(j=i-1;3>=0 && key<aljl;j—--)
alj+ll=aljl;
aljtl]=key;
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42 #include <stdio.h>
int binary search(int *,int,int,int);
int main()
{
int number[100],1i,n,k,num;
printf ("AEREn:");
scanf ("%d", &n) ;
for (1=0;i<n; i++) {
scanf ("%d", &number[i]) ;
}
printf ("FAAGEE k")
scanf ("%d", &k) ;

num = binary search (number,k,0,n-1);

if (num == -1)

printf ("{EELRH") ;
else

printf ("H=EXE : %d ", num);
return 0;

int binary search(int a[],int k, int left, int right)
{
int m, num=0;
while (left<=right) {
m = (left + right)/2;
num++;
if (a[m]==k)
return num;

else if(a[m]<k)

left=m+1;
else
right=m-1;

}

return -1;
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#include <stdio.h>
int binary search(int *,int,int,int);
int main ()
{
int number[100],1i,n,k,num;
scanf ("%d", &n) ;
for (1i=0;1i<n; i++) {
scanf ("%d", &number[i]) ;
}
scanf ("%d", &k) ;
num = binary search (number,k,0,n-1);
if (num == -1)
printf ("0™);
else
printf ("$d ", num);

return 0;

int binary search(int a[],int k, int left, int right)
{

int m, num=0;

while (left<=right) {

m = (left + right)/2;
num++;
if (a[m]==k)

return num;

else if(a[m]<k)

left=m+1;
else
right=m-1;

}

return -1;

50 HoH 172 H



43 #include <stdio.h>
int main ()

{
int al[4][4]1={0};
int i, Jj,sum;
printf ("FE#A—(E ax4 FIEH\n") ;
for (i=0;1i<4; i++)
for (§=0;3<4;j++)
scanf ("%d", &al[i]1[7]):
i=0;
J=0;
sum=0;
while (1) {
sum+=al[i] [J];
printf ("%d",ali1[31);
(ali][]1%2==0)72])++:1++;
if(i>3113>3)
break;
else
printf ("+");
}
printf ("=%d\n", sum) ;
return 0;
}
& xR A

#include <stdio.h>
int main ()

{
int al[4][4]1={0};
int 1i,Jj,sum;
for (1=0;1<4;1i++)
for (§=0;73<4;j++)
scanf ("%d", sali][7]);
i=0;
3=0;
sum=0;
while (1) {
sum+=al[i] [J];
printf ("sd",alil [J])
(ali][]31%2==0)72])++:1++;
if (1>3113>3
break;
else
printf ("+");
}
printf ("=%d\n", sum) ;
return 0;
}
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44 #include <stdio.h>

int main ()

{

FILE *inp, *outp;
int 1, part number, number in stock, nmax, smax;

double price, pmax;

inp=fopen ("44.txt","x");
outp=fopen ("44 out.txt","w");

fprintf (outp, "$8s%125%12s\n", "EIRYLHE", "B, "FREE") ;
fscanf (inp, "%d%1£%d", &part number, &éprice, &énumber in stock);

fprintf (outp, "%$5d\t%11.2£\t%5d\n",part number,price*1.15, num
ber in stock);

smax=number in stock;

nmax=part number;

pmax=price;

for (i=1; i<20; i++)

{

fscanf (inp, "%d%1£%d", &part number, &éprice, &énumber in stock);

fprintf (outp, "%$5d\t%11.2£\t%5d\n",part number,price*1.15, num
ber in stock);
if (smax<number in stock)
{
smax=number in stock;
nmax=part number;

pmax=price;

}

fprintf (outp, "(FEHMHEHLAE \n") ;
fprintf (outp, " E{FEHEEE: %d\n", nmax) ;
fprintf (outp," EFEM:%.2f\n", pmax*1.15) ;
fprintf (outp," FEHH:%d\n", smax) ;

fclose (inp) ;

fclose (outp) ;

return 0;
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#include <stdio.h>

int main ()

{

FILE *inp, *outp;
int 1, part number, number in stock, nmax, smax;

double price, pmax;

inp=fopen ("44.txt","r");
outp=fopen ("44 out.txt","w");

fscanf (inp, "%d%1£%d", &part number, &éprice, &énumber in stock);

fprintf (outp, "%$5d\t%11.2£\t%5d\n",part number,price*1.15, num
ber in stock);

smax=number in stock;

nmax=part number;

pmax=price;

for (i=1; i<20; i++)

{

fscanf (inp, "%d%1£%d", &part number, &éprice, &énumber in stock);

fprintf (outp, "%$5d\t%11.2£\t%5d\n",part number,price*1.15, num
ber in stock);
if (smax<number in stock)
{
smax=number in stock;
nmax=part number;

pmax=price;

}

fprintf (outp, "$d\n", nmax) ;
fprintf (outp, "%$.2f\n",pmax*1.15) ;
fprintf (outp, "$d\n", smax) ;

fclose (inp) ;

fclose (outp) ;

return 0;
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45 #include <stdio.h>
#inelude<atdiib b
void insert (int x[], int size);
int main ()
{

int x[50], 1i=0, k, number, median;

printf ("EEig A —EE N (0<N<100, -99 to end):");
scanf ("%d", &number) ;
while (number!=-99)
{
X [i++]=number;
insert (x,1);
printf ("EART (H/NETRHER) : ) ;
for (k=0; k<i; k++)
printf ("$34d",x[k]);
if (i%2==0)
median=(x[1/2-11+x[1/21)/2;
else
median=x[ (i-1)/2];
printf ("\n B2 ABTFHFEE: $d\n", median) ;
printf ("EHim A —EH N (0<N<100, -99 to end):");

scanf ("%d", &number) ;

return 0;
}
void insert (int x[], int size)
{
int 1, j, key;
key=x[size-1];
for (j=size-2; 3>=0 && key<x([j]; J--)
x[J+1]1=x[3];
x[j+1]=key;
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#include <stdio.h>

void insert (int x[], int size);
int main ()

{

int x[50], 1=0, k, number, median;

scanf ("%d", &number) ;
while (number!=-99)
{
X [i++]=number;
insert (x,1);
for (k=0; k<i; k++)
printf ("$3d",x[k]);
if (1i%2==0)
median=(x[1/2-11+x[1/21)/2;
else
median=x[ (i-1)/2];
printf ("\n%d\n",median) ;

scanf ("%d", &number) ;

return 0;
}
void insert (int x[], int size)
{
int 1, j, key;
key=x[size-1];
for (j=size-2; 3>=0 && key<x[j]; J--)
x[J+1]1=x[]1;
x[j+1l]=key;
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46 #include <stdio.h>
#include <ctype.h>
#include <string.h>
int main (void)
{
char s[10017];
int i, num([26]={0};
printf ("FHWEA—FIHEILFRE ") ;
scanf ("%s",s);
for (i=0;i<strlen(s);i++) {
s[i] = toupper(s[i]):;
num[s[i]-"A"]++;
}
for (1=0;1<26;i++)
if (num[i] !'=0)
printf ("%c:%d\n", "A'+1i,num([i]) ;

return 0;

& 3k A
#include <stdio.h>
#include <ctype.h>
#include <string.h>
int main (void)
{
char s[1001];
int i, num([26]={0};
scanf ("%s",s);
for (i=0;i<strlen(s) ,;i++) {
s[i] = toupper(s[i]):
num[s[i]-"A"']++;
}
for (1i=0;1<26;i++)
if(num[i] !'=0)
printf ("%c %d\n", 'A'+1i,num[i]);

return 0;
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47 #include <stdio.h>
int main ()
{
FILE *fp;
char filen[81], ch;
int nnum, nupper, nlower;
nnum=nupper=nlower=0;
printf ("Input file name = ");
gets (filen);
fp=fopen (filen, "rb");
if (fp==NULL)
{
puts ("\n!!! File not found !!!\n");
return -1;
}
while ( (ch=fgetc (fp)) !=EOF)
{
if( ch>='0"' && ch <='9"' ) nnum++;
else 1f( ch>="'A' && ch<='Z') nuppert++;

else 1if( ch>='a' && ch<='z') nlower++;
}
fclose (fp);
printf (" # of Numerical characters = %d\n",nnum) ;
printf (" # of Upper-case characters = %d\n",nupper) ;
printf (" # of Lower-case characters = %d",nlower);

return 0;
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#include <stdio.h>

int main ()

{

FILE *fp;

char filen[81], ch;

int nnum, nupper, nlower;
nnum=nupper=nlower=0;

gets (filen);

fp=fopen (filen, "rb");

if (fp==NULL)

{
puts ("\n!!! File not found !!!'\n");
return -1;

}

while ( (ch=fgetc (fp)) !=EOF)

{
if( ch>='0"' && ch <='9"' ) nnum++;
else 1f( ch>="'A' && ch<='Z') nuppert++;
else 1if( ch>="a' && ch<='z"') nlower++;

}

fclose

(fp) 7
printf ("$d\n", nnum) ;
printf ("$d\n", nupper) ;
printf ("%$d",nlower) ;

return 0;
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48 #include <stdio.h>
H#imelude—<sastdliib >
int main ()
{
int n, i, 3j, k, grade[50], rank[50];
printf ("FEEIAZAEANE ") ;
scanf ("%d", &n) ;
for (i=0; i<n; i++)
{
printf ("FEEASESd iLZ2AERYREE - ", 1+1) ;
scanf ("%d", &grade[i]);
}
for (i=0; i<n; i++)
{
k=1;
for (3=0; j<n; J++)
if (grade[j]l>grade[i])
k++;
rank[i]=k;
}
printf ("EK&E\t X \n") ;
for (i=0; i<n; i++)
printf ("%$3d\t%3d\n",grade[i],rank[i]);
return O;

}

#include <stdio.h>
int main ()
{
int n, i, 3j, k, grade[50], rank[50];
scanf ("%d", &n) ;
for (i=0; i<n; 1i++)
{
scanf ("%d", &grade[i]) ;
}
for (i=0; i<n; 1i++)
{
k=1;
for (7=0; j<n; j++)
if (grade[j]l>grade[i])
k++;
rank[i]=k;
}
for (i=0; i<n; i++)
printf ("%$3d\t%3d\n",grade[i],rank[i]);
return 0;
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49 #include <stdio.h>
void convert (char *strp):
int main ()
{
char str[81];
printf ("FEEWIA—FE ") ;
gets(str);
convert (str);
printf ("AR/NEEBEHIFE ") ;
puts (str) ;
return 0;

}

void convert (char *strp)
{
int 1i;
for (1=0; * (strp+i)!='\0"; i++)
if (* (strp+i)>='A' && * (strp+i)<='z")
* (strp+i)=* (strp+i)+32;
else if (*(strp+i)>='a' && *(strp+i)<='z")
* (strp+i)=* (strp+i)-32;
}

#include <stdio.h>
void convert (char *strp);
int main ()
{
char str[81];
gets(str);
convert (str);
puts (str) ;
return 0;

}

void convert (char *strp)
{
int 1i;
for (i=0; * (strp+i)!="\0"'; i++)
if (* (strp+i)>='A' && * (strp+i)<='z")
* (strp+i)=* (strp+i)+32;
else if (*(strp+i)>='a' && *(strp+i)<='z")
* (strp+i)=* (strp+i)-32;
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50 #include <stdio.h>
H#imelude—<sastdlib >
int main ()

{

unsigned long a, b, c=0, k=0;

printf ("FHEWA A ") ;
scanf ("%1d", &a) ;
printf ("FHWAB ") ;
scanf ("%1d", &b) ;
while(a!=0 || b!=0)
{
if (a%10+b%10+c>=10)
{
k=k+1;
c=1;
}
else
c=0;
a=a/10;
b=b/10;
}
printf ("A+BHFEA T 5d ZHEMI\N", k) ;
return 0;

}

#include <stdio.h>
int main ()
{

unsigned long a, b, c=0, k=0;

scanf ("%1d", &a) ;
scanf ("%1d", &b) ;
while(a!=0 || b!=0)
{
if (a%10+b%10+c>=10)
{
k=k+1;
c=1;
}
else
c=0;
a=a/10;
b=b/10;
}
printf ("%d\n", k) ;
return 0;
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51 #include <stdio.h>
H#imelude—<sastdliib >
#include <ctype.h>

=~

T N I PN
T Liftc L e O L ORT)

int main ()

{
FILE *inp;
int word=0, character=0, count=0;
char c;

inp=fopen ("51.txt","x");

while ((c=getc(inp)) !=EOF)
{
if(c!=" ' && isalnum(c))
{
character++;
count++;
}
else
count=0;
if (count==1) word++;

}

printf ("%d characters \n",character);
printf ("%d words \n",word);

fclose (inp) ;

return 0;

}

#include <stdio.h>

#include <ctype.h>

int main ()

{
FILE *inp;
int word=0, character=0, count=0;
char c;

inp=fopen ("51.txt","x");

while ((c=getc (inp)) '=EOF)
{
if(c!=" ' && isalnum(c))
{
character++;
count++;
}
else
count=0;
if (count==1) word++;

}

printf ("%$d\n", character);
printf ("$d\n",word) ;
fclose (inp) ;

return 0;
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52 #include <stdio.h>
tirelude—<stdlibb>
int main ()
{
FILE *inp;
char team[o6][107];
int playl[711[91={0}, i, 3J;
int team max, play max, index max;

inp=fopen ("52.txt","r");
for (i=0; 1i<6; 1i++)
{
fscanf (inp, "%s", team[1i]);
for (j=0; j<8; J++)
fscanf (inp, "%d", &play (il [J]) s
}
for (i=0; 1i<6; 1i++)
for (j=0; j<8; J++)
play[i] [8]+=play[1][]J];
for (i=0; 1i<8; 1i++)
for (7=0; J<6; j++)
play[6] [i]+=play[3][i];
team max=play[0] [8];
index max=0;
for (i=1; 1<6; 1++)
if (team max<play[i][8])
{
team max=play[i] [8];
index max=i;
}
printf ("%s KL TEE % \n", team[index max]) ;
play max=play(6][0];
index max=0;
for(i=1; 1i<8; i++)
if (play max<play[6][i])
{
play max=play[6][i];
index max=i;
}
printf ("Fsd BT EEZ \n", index max+1) ;
fclose (inp) ;
return 0;
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#include <stdio.h>
int main ()

{

FILE *inp;

char team[6][10];

int playl[711[91={0}, i, 3J;

int team max, play max, index max;

inp=fopen ("52.txt","r");
for (i=0; i<6; i++)
{
fscanf (inp, "%s", team[1i]);
for (7=0; J<8; j++)
fscanf (inp, "%d", &play[i]l [J]) ;s
}
for (i=0; 1i<6; 1i++)
for (7=0; J<8; j++)
play[i] [8]+=play[i] [J];
for (i=0; i<8; i++)
for (7=0; J<6; j++)
playle] [1]+=play[]j][i];
team max=play[0] [8];
index max=0;
for (i=1; 1<6; 1++)
if (team max<play[i][8])
{
team max=play[i][8];
index max=i;
}
printf ("%$s\n",team[index max]);
play max=play(6][0];
index max=0;
for (i=1; 1<8; 1++)
if (play max<playl[6][i])
{
play max=play([6][1i];
index max=i;
}
printf ("%d\n",index max+1l);
fclose (inp) ;
return 0;
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53 #include <stdio.h>
struct student
{
int id;
char name[21];
char grade;
i
typedef struct student STU;
void search (STU*,int, int);
int main ()
{
FILE *inp;
STU info[70], found;

int i=0, no;

inp=fopen ("53.txt","x");
// JEE T "ed%s Sc"HZEE
while (fscanf (inp, "%d%s
c",&info[i] .id,info[1] .name, &info[i] .grade) !=EOF)
i++;
printf ("W ANGEIAVESR - ")
scanf ("%d", &no) ;
search (info, i,no);
fclose (inp) ;
return 0;
}
void search (STU info[], int size, int key)
{
int 1i;
for (i=0; i<size; i++)
{
if(info[i].id==key)
break;
}
if (i==size)
printf ("0\n");
else
printf ("$d\t%s\t%c\n",info[i].id,info[i] .name,info[i].grade);

}
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& X A
#include <stdio.h>
struct student
{
int id;
char name[21];
char grade;
i
typedef struct student STU;
void search (STU*,int, int);
int main ()
{
FILE *inp;
STU info[70], found;

int i=0, no;

inp=fopen ("53.txt","x");
// GEE: "sd¥s sc"BER
while (fscanf (inp, "%d%s
c",&info[i] .id,info[i] .name, &info[i] .grade) !=EOF)
i++;
scanf ("%d", &no) ;
search (info, i,no);
fclose (inp) ;
return 0;
}
void search (STU info[], int size, int key)
{
int 1i;
for (i=0; i<size; 1i++)
{
if(info[i].id==key)
break;
}
if (i==size)
printf ("0\n");

else

printf ("$d\t%s\t%c\n",info[i].id,info[i] .name,info[i].grade);

}
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54 #include <stdio.h>
int main ()
{

int a[10][10], b[10]1[10], c[10][1071;

int m, n, i, Jj;

printf ("EEHAJER A HBIE -

scanf ("%d", &m) ;

printf ("gEHm AFEE A AYTTHL |

scanf ("%d", &n) ;
printf ("FHEAEM A \n") ;
for (i=0; i<m; 1i++)
for (7=0; j<n; j++)
{
scanf ("%d",&a[i][3])
b[i] [n-j-1]=ali][]J];
cljllil=ali][J];
}
printf ("FEF# A B EHER B \n") ;
for (i=0; i<m; i++)
{
for (7=0; j<n; j++)
printf ("%4d",bl[1][3]);
printf ("\n");
}
printf (“HEFH A FUEEEE B\n") ;
for (i=0; i<n; i++)
{
for (7=0; j<m; Jj++)
printf ("%4d",cl[i][3]);
printf ("\n");
}

return 0;
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#include <stdio.h>
int main ()
{
int af[l10][10], b[10][10], c[10]1[10];

int m, n, i, Jj;

scanf ("%d", &m) ;
scanf ("%d", &n) ;
for (i=0; i<m; i++)
for (7=0; j<n; j++)
{
scanf ("%d",&alil[3])
bli] [n-j-1]=ali]l[]];
cljllil=ali][J];
}
for (1i=0; i<m; i++)
{
for (7=0; j<n; j++)
printf ("%4d",b[i1]1[3]);
printf ("\n");
}
for (1i=0; i<n; i++)
{
for (7=0; j<m; j++)
printf ("%4d",cl[i]1[3]);
printf ("\n");
}

return 0;
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55 #include <stdio.h>
int main ()
{
int a[10][10], b[10]1[10], c[10]1[101={0};

int ma, na, mb, nb, i, J, k;

printf ("FHH AFEHARSIE

scanf ("%d", &ma) ;

printf ("F5H ATEEARYTTEY -

scanf ("%d", &na) ;
printf ("EEHATEEA: \n")
for (i=0; i<ma; i++)
for (J=0; j<na; j++)
scanf ("%d", sa[i ][j]);
printf ("EEHH ATEHBHYZIEL |

scanf ("%d", &mb) ;

printf ("F5H ATEEBAYITEY -

scanf ("%d", &nb) ;
printf ("EEHAFEEB: \n")
for (i=0; i<mb; i++)
for (j=0; Jj<nb; J++)
scanf ("%d", &b[i][F]);
if (na!=mb)
printf ("0\n");
else
{
for (i=0; i<ma; i++)
for (3j=0; j<nb; Jj++)
for (k=0; k<na; k++)
cli] [jJl+=ali]l [k]l*b[k]I[J];
printf ("fEfHAxBAYLEE B\n") ;
for (i=0; i<ma; i++)
{
for (3j=0; j<nb; Jj++)
printf ("%4d",cl[i][3]);
printf ("\n");

return 0;
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& X A
#include <stdio.h>
int main ()
{
int af[l10][10], b[10][10], c[10]1[101={0};

int ma, na, mb, nb, i, J, k;

scanf ("%d", &ma) ;
scanf ("%d", &na) ;
for (i=0; i<ma; i++)
for (3=0; j<na; j++)
scanf ("%d",&alil[3])
scanf ("%d", &mb) ;
scanf ("%d", &nb) ;
for (i=0; i<mb; i++)
for (j=0; j<nb; j++)
scanf ("%d",&b[1]1[3]1)
if (na!=mb)
printf ("0\n");
else
{
for (i=0; i<ma; i++)
for (7=0; j<nb; j++)
for (k=0; k<na; k++)
clil[Jl+=al1] [k]*b[k][J]7
for (i=0; i<ma; i++)
{
for (j=0; j<nb; J++)
printf ("%4d",cl[i]1[3]);
printf ("\n");

return 0;

70 HoH£ 172 H



56 #include <stdio.h>
#include <string.h>

void upper (char>*);

int main ()

{

char s[100][1024], t[1024], strl[1024],
int n=0, i=0, 3=0;

while (scanf ("%$s",s[i++])) {
if (strcmp (s[i-1], "END")==0) {
strcpy(s[--11,"");
break;
}
}
n=1i;

for (i=0; i<n; i++){
for (7=0; j<n; j++){

upper (strcpy(strl,s([1i]))

upper (strcpy (str2,s[jl))

if(strcmp(strl,str2)>0)

{
strcpy(t,s[i])
strcpy(s[il,s[3]):
strcpy(s[jl,t)>

}

i=0;

printf ("HARZ/NEF\n") ;

while(strlen(s[i]) !=0)
printf ("$s\n",s[i++]);

return 0;

void upper (char strpl])

{

int 1i;
for (i=0; strpl[i]!='\0'; 1i++)
if(strpl[il>='a' && strplil<='z")
strpl[i]=strpl[i]l-'a'+'A"';
return;
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#include <stdio.h>

#include <string.h>
void upper (char>*);

int main ()

{

char s[100][1024], t[1024], strl[1024],

int n=0, i=0, 3=0;

while (scanf ("%s",s[i++])) {
if (strcmp (s[i-1], "END")==0) {
strcpy (s[--11,"");
break;

}
n=i;
for (i=0; i<n; i++){
for (7=0; j<n; j++){
upper (strcpy (strl,s[i]))
upper (strcpy (str2,s[jl))
if(strcmp(strl,str2)>0)
{
strcpy(t,s[i]);
strcpy(s[il,s[3])-
strcpy(s[jl,t);

}

i=0;

while(strlen(s[i]) !=0)
printf ("$s\n",s[i++]);

return 0;

void upper (char strpl])
{
int 1i;
for (i=0; strp[i]!='\0'; 1i++)
if(strpli]l>="a' && strplil<='z")
strpl[i]=strpl[i]-'a'+'A';
return;
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57 #include <stdio.h>

#include <string.h>
void convert (long, char*);
volid reverse (char*);
int main ()
{
int i, len;
long decimal;
char hex[11];

printf ("EEEA—EHHEAAVIERES ")

scanf ("%$1d", &decimal) ;
convert (decimal, hex) ;

printf ("HEE+N#EEI=%s\n", hex) ;

len=strlen (hex);
for (i=1;i<=len;i++)

printf ("FESAHTE ASc\n",i, hex[len-i]);

return 0;

void convert (long decimal,

{
int i,digit;
i=0;
while (decimal>=16) {
digit=decimal%1l6;
decimal/=16;

hex[i]=(digit>=10)? digit-10+'A"':

i++;
}

hex[i]=(decimal>=10)7? decimal-10+'A"':

hex[i+1]="\0";
reverse (hex) ;
return;

volid reverse (char hex|[])

{

char hex|[])

int start=0,end=strlen (hex)-1;

char temp;
while (start < end) {
temp = hex[start];

hex[start++] = hex[end];
hex[end--] = temp;

}

return;
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#include <stdio.h>
#include <string.h>

void convert (long, char*);
volid reverse (char*);

int main ()

{

int i, len;
long decimal;
char hex[11];

scanf ("%$1d", &decimal) ;
convert (decimal, hex) ;
printf ("%$s\n", hex) ;
len=strlen (hex) ;
for (i=1;i<=len;i++)

printf ("%$c\n",hex[len-1]);
return 0;

void convert (long decimal, char hex[])

{

int i,digit;

i=0;

while (decimal>=16) {
digit=decimal%1l6;
decimal/=16;

hex[i]=(digit>=10)? digit-10+'A"':

i++;

}

hex[i]=(decimal>=10)7? decimal-10+'A"':

hex[i+1]="'\0";
reverse (hex) ;
return;

volid reverse (char hex|[])

{

int start=0,end=strlen (hex)-1;
char temp;
while (start < end) {

temp = hex[start];

hex[start++] = hex[end];
hex[end--] = temp;

}

return;
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58 #include <stdio.h>

#include <string.h>
void convert (long, char¥*,
volid reverse (char*);
int main ()
{

long decimal;

char val[31];

int r;

int) ;

printf ("EEEA—EHHEAAVIERES ")

scanf ("%$1d", &decimal) ;

printf ("FEEIACE ")
scanf ("%d", &r) ;

convert (decimal,val, r);
printf (" sd#ENI=%s\n", r,val) ;

return 0;

void convert (long decimal, char wvall],

{
int i,digit;
i=0;
while (decimal>=r) {
digit=decimal%r;
decimal/=r;

int r)

vall[i]l=(digit>=10)? digit-10+'A': digit+'0"';

i++;

}

val[i]=(decimal>=10)? decimal-10+'A': decimal+'0"';

val[i+1]="\0";
reverse (val) ;
return;

volid reverse (char hex|[])

{

int start=0,end=strlen (hex)-1;

char temp;
while (start < end) {
temp = hex[start];

hex[start++] = hex[end];
hex[end--] = temp;

}

return;
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#include <stdio.h>
#include <string.h>
void convert (long, char¥*,
volid reverse (char*);
int main ()
{

long decimal;

char val[31];

int r;

int);

scanf ("%$1d", &decimal) ;

scanf ("%d", &r) ;

convert (decimal,val, r);

printf ("%$s\n",val);
return O;

void convert (long decimal, char wvall],

{
int i,digit;
i=0;
while (decimal>=r) {
digit=decimal%r;
decimal/=r;

int r)

vall[i]l=(digit>=10)? digit-10+'A': digit+'0"';

i++;

}

val[i]=(decimal>=10)"? decimal-10+'A': decimal+'0"';

val[i+1]="\0";
reverse (val) ;
return;

volid reverse (char hex|[])

{

int start=0,end=strlen (hex)-1;

char temp;
while (start < end) {
temp = hex[start];

hex[start++] = hex[end];
hex[end--] = temp;

}

return;
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59 #include <stdio.h>
int main ()

{

}

int bin[30], i=0, c¢=0, n;
long decimal;

printf ("EEHA—{E-HHEAAYIERE

scanf ("%$1d", &decimal) ;

while (decimal>=2) {
bin[it++]=decimal%?2;
decimal/=2;

}

bin[i]=decimal;

n=i;
printf ("ER A ET=");
for (i=n; i>=0; i--){

printf ("%d",bin[1i]);
if(bin[i]==1)
C++;

}
printf ("\n#H %d bit(s) &1l\n",c);

if(n!=0) {
printf ("bit{");
for (i=0; i<=n,; i++)
if(binf[i]l==1)
printf ("sd,",1i);
printf ("\b}H1\n") ;
}

return 0;

#include <stdio.h>
int main ()

{

int bin[30], i=0, c¢=0, n;
long decimal;

scanf ("%$1d", &decimal) ;
while (decimal>=2) {
bin[i++]=decimal%?2;
decimal/=2;
}
bin[i]=decimal;
n=i;
for (i=n; i>=0; i--){
printf ("$d",bin[i]);
if(binf[i]l==1)
c++;
}
printf ("\n%d\n",c);
if(n!=0) {
for (i=0; i<=n; i++)
if(binf[i]l==1)
printf ("%d,",1i);
}

return 0;
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60 #include <stdio.h>
#include <math.h>
double mean (double x[], int size);
double variation (double x[], double avg, int size);
int main ()
{
double datal[50], avg, var;

int i, ny;

printf ("FHEABRHER - ") ;
scanf ("%d", &n) ;
printf ("FEEAER ") ;
for (1i=0; 1i<n; i++)
scanf ("$1f", &datali]) ;
avg=mean (data,n) ;
var=variation(data,avg,n);
printf ("PEEKSE\n", avg) ;
printf ("EHEEEASE\n",var) ;
return 0;
}
double mean (double x[], int size)
{
int 1i;
double s=0;
for (i=0; i<size; i++)
s+=x[1];
return s/size;
}
double variation(double x[], double avg, int size)
{
int 1i;
double s=0;
for (i=0; i<size; 1i++)
s+=fabs (x[i]-avqg);

return s/size;
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#include <stdio.h>
#include <math.h>
double mean (double x[], int size);
double variation (double x[], double avg, int size);
int main ()
{
double datal[50], avg, var;

int i, n;

scanf ("%d", &n) ;
for (1=0; 1i<n; i++)
scanf ("$1f", &datali]) ;
avg=mean (data,n) ;
var=variation(data,avg,n);
printf ("$f\n", avqg) ;
printf ("$f\n",var);
return 0;
}
double mean (double x[], int size)
{
int 1i;
double s=0;
for (i=0; i<size; 1i++)
s+=x[1];
return s/size;
}
double variation (double x[], double avg, int size)
{
int 1i;
double s=0;
for (i=0; i<size; 1i++)
s+=fabs (x[i]-avqg);

return s/size;
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6] #include <stdio.h>
Hinelude—<otrdl il
int main ()
{
int data[50], len[50];
int 1, j, n, max=0;

printf ("EEEMAZCHESR ") ;
scanf ("%d", &n) ;
printf ("FFEEAER ") ;
for (i=0; i<n; i++)
scanf ("%d", &datalil]) ;
for (i=0; i<n; i++)
len[i]=1;
for (i=0; i<n; i++)
{
for (3=0; j<i; j++)
if ((data[i]l>datal]j]) &&(len[il<=len[7j]))
len[i]=len[]j]+1;
if (max<len[i])
max=len[i];
}
printf (" RIENTFYINERER $d\n", max) ;
return 0;

}

#include <stdio.h>

int main ()

{
int data[50], len[50];
int 1, j, n, max=0;

scanf ("%d", &n) ;
for (i=0; i<n; i++)
scanf ("%d", &datali]) ;
for (i=0; i<n; 1i++)
len[i]=1;
for (i=0; i<n; 1i++)
{
for (j=0; Jj<i; J++)
if((data[i]>data[]j]) &&(lenf[i]l<=len[]j]))
lenfi]=len[]j]+1;
if (max<len[i])
max=len[i];
}
printf ("%$d\n",max) ;
return 0;
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62 #include <stdio.h>
Hinelude—~<stdlibh>—
int coun=1l;
void hanoi (int i, char a, char b, char c¢);
int main ()
{
int i;
char a='A', b='B', c='C';

printf ("Please input how many disk(s) "),
scanf ("%d", &1) ;
hanoi(i,a,b,c);

return 0;
}
void hanoi (int i, char a, char b, char c¢)
{
if (i>0)
{
hanoi(i-1,a,c,b);
printf (" (%d) move %d from %c to %c\n",coun++,1i,a,c);
hanoi(i-1,b,a,c);
}
}
#include <stdio.h>
int coun=1l;
void hanoi(int i, char a, char b, char c);
int main ()
{
int 1i;
char a='A', b='B', c='C"';

scanf ("%d", &1) ;
hanoi(i,a,b,c);

return 0;
}
void hanoi (int i, char a, char b, char c)
{
1f (i>0)
{
hanoi(i-1,a,c,b);
printf (" (%d) %d %c %c\n",coun++,i,a,c);
hanoi(i-1,b,a,c);
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63 #include <stdio.h>
#include <stdlib.h>
int *array;
int narr=0;
void partition (int n);
int main ()

{

int n;

printf ("FEEIAEREE n: ") ;

scanf ("%d", &n) ;

array=(int *)malloc (n*sizeof (int));
partition(n);

free(array);

return 0;
}
void partition (int n)
{
int 1i;
if (n)
{
for (i=n; i>0; --1)
if(!narr || i<=arrayl[narr-1])
{
array[narr++]=1i;
partition(n-1i);

--narr;

}
else
{
printf ("$d",array[0]);
for (i=1,; i<narr; ++1i)
printf (", %d",arrayl[i])

printf ("\n");
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#include <stdio.h>
#include <stdlib.h>
int *array;

int narr=0;

vold partition(int n);
int main ()

{

int n;

scanf ("%d", &n) ;
array=(int *)malloc (n*sizeof (int));
partition(n);

free(array);

return 0;

}
void partition (int n)

{

int 1i;
if (n)
{
for (i=n; i>0; --1)
if(!narr || i<=arrayl[narr-1])

{
array[narr++]=1i;
partition(n-1i);

--narr;

}

else
{
printf ("$d",array[0]);
for (i=1; i<narr; ++1i)
printf (", %d",arrayl[i]);
printf ("\n");
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64 #include <stdio.h>
#ipnctude <sodriboh>
struct employee
{
int id;
int base;
int sales;
int bonus;
int salary;
i
typedef struct employee EMP;
void bubble sort (EMP x[], int n);
int main ()
{
FILE *inp, *outp;
EMP data[20];

int 1, 3j, n;

inp=fopen("64.txt","x");
outp=fopen ("64 out.txt","w");
for (i=0; i<20; i++)

fscanf (inp, "%d%d%d", &data[i] .id, &data[i] .base, &data[i] .sales);
for (i=0; i<20; i++)
{
if(data[i] .sales<100000)
datal[i] .bonus=0;
else if(data[i] .sales<200000)
datal[i] .bonus=1000;
else if(data[i] .sales<300000)
datal[i] .bonus=3000;
else if(data[i] .sales<400000)
datal[i] .bonus=5000;
else
datal[i] .bonus=10000;
data[i] .salary=datali] .basetdatal[i] .bonus;
}
fprintf (outp, "%$4s%8s%12s%12s%8s\n", \
"dmtT, R, "SHERER, "RESEE ", "HKT)
bubble sort (data, 20);
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for (i=0; i<20; i++)

fprintf (outp, "$4d%8d%12d%12d%8d\n", \

datal[i].id,data[i] .base,datal[i] .sales,datal[i] .bonus,datal[i].sal
ary);
fclose (inp) ;
fclose (outp) ;
return 0;
}
void bubble sort (EMP x[], int n)
{
int 1, j, tag;
EMP temp;
for (i=n-1; 1>0
{

;oi--)

tag=0;
for (J=0; j<=i-1; J++)
if(x[J].1d > x[j+1].1id)
{
temp=x[j];
x[J1=x[3+1];
x[jt+l]=temp;
tag=1;
}
if (tag==0)

break;
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#include <stdio.h>
struct employee
{
int id;
int base;
int sales;
int bonus;
int salary;
i
typedef struct employee EMP;
void bubble sort (EMP x[], int n);
int main ()
{
FILE *inp, *outp;
EMP data[20];

int i, 3j, n;

inp=fopen("64.txt","xr");
outp=fopen ("64 out.txt","w");
for (1=0; 1<20; 1i++)

fscanf (inp, "%d%d%d", &data[i] .id, &data[i] .base, &data[i] .sales);
for (i=0; i<20; i++)
{
if(data[i] .sales<100000)
datal[i] .bonus=0;
else if(data[i] .sales<200000)
datal[i] .bonus=1000;
else if(data[i] .sales<300000)
datal[i] .bonus=3000;
else if(data[i] .sales<400000)
datal[i] .bonus=5000;
else
datal[i] .bonus=10000;
data[i] .salary=datali] .basetdatal[i] .bonus;
}
bubble sort (data,20);
for (i=0; i<20; i++)
fprintf (outp, "$4d%8d%12d%12d%8d\n", \
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datal[i].id,data[i] .base,datali] .sales,datali]

ary);
fclose (inp) ;
fclose (outp) ;
return 0;

}

void bubble sort (EMP x[],
{

int n)
int 1, j, tag;
EMP temp;

for (i=n-1; 1>0

{

;o1-—-)

tag=0;
for (J=0; j<=i-1; J++)
if(x[J].1d > x[j+1].1id)
{
temp=x[7j];
x[J1=x[3+1];
x[Jj+tl]=temp;
tag=1l;
}
if (tag==0)

break;
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65 #include <stdio.h>

void fibnum(int, int);

int main ()

{
int n,m;
printf ("FE#IA N, m:");
scanf ("%d %d", &n, &m) ;
fibnum(n,m) ;
return 0;

}

void fibnum(int n, int m)

{

int i;

double £fib=0, tmp=1;

if (n==0) {
printf ("$.0f ", fib);
n++;

} else

for(i=1l;i<n;i++) {
fib=fib+tmp;
tmp=fib-tmp;
}
for (i=n;i<=m;i++) {
fib=fib+tmp;
tmp=fib-tmp;
printf ("$.0f ", fib);
}
return;
}
#include <stdio.h>
void fibnum(int, int);
int main ()
{
int n,m;
scanf ("%d %d", &n, &m) ;
fibnum(n,m) ;
return 0;

}

void fibnum(int n, int m)

{

int i;

double £fib=0, tmp=1;

1f (n==0) {
printf ("$.0f ", fib);
n++;

} else

for (i=1;i<n;i++) {
fib=fib+tmp;
tmp=fib-tmp;
}
for (i=n;i<=m;i++) {
fib=fib+tmp;
tmp=fib-tmp;
printf ("$.0f ", fib);
}

return;
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66 #include <stdio.h>
#ipnctude <sodriboh>
double commission(int price, int trade in);
int main ()
{
FILE *inp;
int price, trade in;
double bonus, total=0;

inp=fopen("66.txt","x");
printf ("B \t IrEY\t FFg\n") ;

while (fscanf (inp, "%d%d", &éprice, &trade in) !=EOF)

{
bonus=commission (price, trade in);
printf ("%d\t%d\t%.2f\n",price,trade in,bonus);
total=total+bonus;

}
double commission(int price, int trade in)
{
double amount, bonus;
amount=price-trade in;
if (amount<200)
bonus=0;
else if (amount<=2500)
bonus=amount*0.1;
else
bonus=250+ (amount-2500) *0.12;

return bonus;
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#include <stdio.h>
double commission(int price, int trade in);
int main ()
{

FILE *inp;

int price, trade in;

double bonus, total=0;

inp=fopen("66.txt","xr");

while (fscanf (inp, "%d%d", &éprice, &trade in) !=EOF)

{
bonus=commission (price, trade in);
printf ("%d\t%d\t%.2f\n",price,trade in,bonus);
total=total+bonus;

}

printf ("%.2f\n", total) ;

fclose (inp) ;

return 0;
}
double commission(int price, int trade in)
{
double amount, bonus;
amount=price-trade in;
if (amount<200)
bonus=0;
else if (amount<=2500)
bonus=amount*0.1;
else
bonus=250+ (amount-2500) *0.12;

return bonus;
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67 #include <stdio.h>
#ipnctude <sodriboh>
#include <time.h>
int main ()
{
time t t;
struct tm *tp;
int adultNum, childNum, rate;
int adultFee, childFee, totalFee;

int over3Discount, discountFee;

while (1)
{
printf ("FARAE ") ;
scanf ("%d", &adultNum) ;
printf ("EA/NZE ") ;
scanf ("%d", &childNum) ;
time (&t) ;
tp=localtime (&t) ;
if (tp->tm wday!=0 && tp->tm wday!=6)
if (tp->tm hour<l7 || (tp->tm hour==17 && tp->tm min<=30))
{
adultFee=268;
childFee=120;
}
else
{
adultFee=368;
childFee=150;
}

else

{
adultFee=368;
childFee=150;

printf ("%$d-%d-%d  %d:%d\n", \

1900+tp->tm year, tp->tm mon+1l, tp->tm mday, tp->tm hour, tp->tm mi
n);

if (adultNum!=0)
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\n

\n

printf (" K A $d*%d=5%d

",adultNum, adultFee, adultNum*adultFee) ;

if (childNum!=0)

printf (" 7N Z $d*$d=%d

",childNum,childFee, childNum*childFee) ;

printf ("10%%HR%EE  %*dJC\n", \

(int) ((adultNum*adultFee + childNum*childFee) *0.1));

totalFee= (adultNum*adultFee + childNum*childFee)*1.1;

printf ("JHE({E
over3Discount=

$d jc\n", totalFee) ;
(adultNum+childNum) /3;
if (over3Discount>0)
{
if (childNum>over3Discount)
discountFee=over3Discount*childFee;
else

discountFee= (over3Discount—-childNum) *adultFee

childNum*childFee;

totalFee —-= discountFee;

("Z ANETTHE Tl %4 jT\n",

printf ( discountFee) ;

}

if (childNum+adultNum>=10)

{
discountFee = totalFee*0.05;
totalFee -= discountFee;

printf ("-FALLETE Pl %4 JT\n",

discountFee) ;

printf ("4&=f+ %d JC\n\n", totalFee);

do

{
printf ("\n A N—fr (1) 2EERH (0
scanf ("%d", &rate) ;
if (rate==0)

exit (0);
}while (rate!=1);
}

return 0;
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#include <stdio.h>
#include <time.h>
int main ()
{
time t t;
struct tm *tp;
int adultNum, childNum, rate;
int adultFee, childFee, totalFee;

int over3Discount, discountFee;

scanf ("%d", &adultNum) ;
scanf ("%d", &childNum) ;
time (&t) ;
tp=localtime (&t) ;
if (tp->tm wday!=0 && tp->tm wday!=6)
if (tp->tm hour<l7 || (tp->tm hour==17 && tp->tm min<=30))
{
adultFee=268;
childFee=120;
}
else
{
adultFee=368;
childFee=150;
}
else
{
adultFee=368;
childFee=150;

printf ("%$d-%d-%d  %d:%d\n", \

1900+tp->tm year, tp->tm mon+1l, tp->tm mday, tp->tm hour, tp->tm mi
n;
if (adultNum!=0)
printf ("$d\n",adultNum*adultFee) ;
if (childNum!=0)
printf ("%d\n",childNum*childFee) ;
printf ("sd\n", \
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(int) ((adultNum*adultFee + childNum*childFee)*0.1));
totalFee= (adultNum*adultFee + childNum*childFee)*1.1;
printf ("$d\n", totalFee) ;
over3Discount=(adultNum+childNum) /3;
if (over3Discount>0)

{

if (childNum>over3Discount)

discountFee=over3Discount*childFee;

else

discountFee= (over3Discount—-childNum) *adultFee
childNum*childFee;

totalFee -= discountFee;

printf ("%$d\n", discountFee);

}
if (childNum+adultNum>=10)
{

discountFee = totalFee*0.05;

totalFee -= discountFee;

printf ("$d\n", discountFee);

}
printf ("$d\n\n", totalFee);

return 0;
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68 #include <stdio.h>
H#inelude—<stdlib >
#include <math.h>
void scan data(char *op, double *rp);
void do next op(char op, double r op, double *cp);
int main ()
{
double r op, acc=0;
char op;

scan _data (&op, &r op) ;

while (op!="qgq')

{
do _next op(op,r op, &acc);
printf ("result so far is %.3f\n",acc);
scan _data (&op, &r op) ;

}

printf ("final result is %.3f\n",acc);

return 0;

}
void scan data(char *op, double *rp)
{
scanf (" %c",op):
if(*op!='qg")
scanf ("S$1f", rp);
}
void do next op(char op, double r op, double *cp)
{
switch (op)
{
case '+':
*cp=*cp+r op;
break;
case '-':
*cp=*cp-r op;
break;
case '*':
*cp=*cp*r op;
break;
case '/':
*cp=*cp/r op;
break;
case '"':
*cp=pow (*cp, r op);
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#include <stdio.h>
#include <math.h>
void scan data(char *op, double *rp);
void do next op(char op, double r op, double *cp);
int main ()
{
double r op, acc=0;
char op;

scan _data (&op, &r op) ;

while (op!="qgq')

{
do _next op(op,r op, &acc);
printf ("%$.3f\n",acc);
scan _data (&op, &r op) ;

}

printf ("%$.3f\n",acc);

return 0;
}
void scan data(char *op, double *rp)
{
scanf (" %c",op):;
if(*op!='qg")
scanf ("S$1f", rp);
}
void do next op(char op, double r op, double *cp)
{
switch (op)
{
case '+':
*cp=*cp+r op;
break;
case '-':
*cp=*cp-r op;
break;
case '*':
*cp=*cp*r op;
break;
case '/':
*cp=*cp/r op;
break;
case '"':
*cp=pow (*cp, r op);
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69 #include <stdio.h>
H#imelude—<sastdliib >
int main ()
{
char g[l1024], s[100]([1024];

int 1i=0, j=0, n=0, star=0, different;

while (scanf ("%$s",s[1]))
{
for (j=0; Jj<strlen(s[i]); Jjt++)
{
1f(s[i][J]=="2")
{
strepy(q,s[i]) 7
break;

}
if(j<strlen(s[i]))
break;

i=i+1;

for (i=0; i<n; i++)

if(strlen(s[i]) !=strlen(q))
continue;
different=0;
for (j=0; Jj<strlen(s[i]); Jjt++)
if(qlJl!t="2" && s[1][J]!=ql]])
{
different=1;
break;
}
if (different==0)

printf ("$s\n",s[1]);

return 0;
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#include <stdio.h>
#include <string.h>
int main ()

{
char g[l1024], s[100]([10247];

int 1i=0, j=0, n=0, star=0, different;

while (scanf ("%$s",s[1]))
{
for (j=0; Jj<strlen(s[i]); Jjt+)
{
if(s[i][J]=="2")
{
strepy(q,s[i]) 7
break;

}
if (j<strlen(s[i]))
break;
i=i+1;
}
n=i;
for (1=0; 1i<n; i++)
{
if(strlen(s[i]) !=strlen(q))
continue;
different=0;
for (j=0; Jj<strlen(s[i]); Jjt++)
if(qljl!t="2" && s[1]1[J]1!=ql3])
{
different=1;
break;
}
if (different==0)

printf ("$s\n",s[1]);

return 0;
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70 #include <stdio.h>
Hinelude—<otdlil—h>
int number[3000]={1,2,3,4,5};
int base[3]1={2,3,5};
int getugly(int order);
int main ()
{

int n;

printf ("FEEEEA ") ;

scanf ("%d", &n) ;

printf ("The %d\'th ugly number is %d\n",n,getugly(n)) ;
return 0 ;

int getugly (int order)
{
int count=4;
int temp, i, Jj;
int min;
order--;
if (order<b)
return number [order];
while (count<order)
{
min=0;
for (i=0; i<count; i++)
{
for (j=0; j<3; J++)
{
temp=number [i] *base[]]
if (temp<=number [count])
continue ;
else if (min== | | min>temp)
min=temp ;

}

number [++count]=min ;

}

return number [order] ;
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#include <stdio.h>

int number[3000]1={1,2,3,4,5};
int base[31={2,3,5};

int getugly (int order);

int main ()

{

int n;

scanf ("%d", &n) ;
printf ("$d\n",getugly (n)) ;

return 0 ;

int getugly (int order)

{

int count=4;
int temp, i, j;
int min;
order—--;
if (order<))
return number[order];
while (count<order)
{
min=0;
for (i=0; i<count; i++)
{
for (7=0; J<3; j++)
{
temp=number[i] *base[]]
if (temp<=number [count])
continue ;
else 1if (min==0 || min>temp)

min=temp ;

}

number [++count]=min ;

}

return number [order] ;
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71 #include <stdio.h>
#ipnctude <sodriboh>
#include <string.h>
int lcs(char *x, char *y, int mm, int nn);
void output (char *x, int i, int 3);
int prev([100][100]={0};
int lenth[100][1007;
int main ()
{
char strl1[111], str2[111];

int m, n, len;

printf ("HEATE A1) ;

scanf ("%$s", &strl[1]);

printf ("FEEIATFE B ") ;

scanf ("%$s", &str2[1]);

m=strlen (&strl[1l]);
n=strlen(&str2[1]);

len=lcs (strl,str2,m,n);

printf ("HEEETFEYIEE K:5d\n", len) ;
"A BB ERRHEFE TR )

(
printf (

output (strl, m, n);
(

printf ("\n");

return 0 ;
}
int lcs(char *x, char *y, int mm, int nn)
{
int 1, j, m, n;
m = mm;
n = nn;
for (1=0; 1i<=m; 1i++)
lenth[1i] [0]=0;
for (3j=0; j<=n; Jj++)
lenth[0][]]1=0;

for(i=1; i<=m; i++)

for (j=1; j<=n; J++)
1f(x[1]==yI[]])
{
lenth[i] [j]=lenth[i-1][3-1] + 1;
prev[i] [J]=1;
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}

else
{
if (lenth[i][j-11>=lenth[i-1]1[7]1)
{
prev[i]l[J]=2;
lenth[i] [j]=lenth[i] [Jj-1];
}
else
{
prev[i] [7]1=3;
lenth[i] [j]=lenth[i-1]11[]];

}

return lenth[m] [n];
}
void output (char *x, int i, int 3Jj)
{
if(prev[i] [jJ]==0) return;
if (prev([i] [J]==1)
{
output (x,1i-1,3-1);
printf ("$c",x[1i]);
}
else if (prev([i][j]==2)
output (x,1i,3-1);
else 1if (prev([i][]]1==3)
output (x,1-1,73);
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#include <stdio.h>
#include <string.h>
int lcs(char *x, char *y, int mm, int nn);
void output (char *x, int i, int 3);
int prev([100][100]={0};
int lenth[100][1007;
int main ()
{
char strl1[111], str2[111];

int m, n, len;

scanf ("%$s", &strl[1]);
scanf ("%$s", &str2[1]);
m=strlen (&strl[1l]);
) ;

4

n=strlen(&str2[1]);
len=lcs (strl,str2,m,n);
printf ("%d\n", len) ;
output (strl, m, n);

printf ("\n");

return 0 ;
}
int lcs(char *x, char *y, int mm, int nn)
{
int 1, j, m, n;
m = mm;
n = nn;
for (i=0; i<=m; i++)
lenth[1] [0]=0;
for (3j=0; j<=n; Jj++)
lenth[0][]J]1=0;
for(i=1; i<=m; 1i++)

for(J=1; j<=n; j++)
if(x[1]==yI[]])
{
lenth([i] [j]=lenth[i-1][3-1] + 1;
prev[i]l[J]1=1;
}

else
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if (lenth[i][j-11>=lenth[i-1]1[71)
{
prev[i] [J]=2;
lenth[i] [j]=lenth[i] [j-1];
}
else
{
prev[i] [7]1=3;
lenth[i] [j]=lenth[i-1][]];

}
return lenth[m] [n];
}
void output (char *x, int i, int 7J)
{
if(prev[i] [jJ]==0) return;
if (prev[i] [§]==1)
{
output (x,1i-1,3-1);
printf ("$c",x[1i]);
}
else if(prev([i][j]==2)
output (x,1i,j-1);
else 1f (prev[i][]]1==3)
output (x,1i-1,73);
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72 #include <stdio.h>

#ipnctude <sodriboh>

#include <string.h>

#include <ctype.h>

struct Sfreqg

{
char str[1024];
int freqg;

i

int main ()

{
char s[6l], text[1024]="";
int n, i, j, k, index=0, found=0;
struct Sfreqg v[1024];

printf ("FHEALIRRE ") ;
scanf ("%d", &n) ;
printf ("FEWEASEAS P \n") ;
while (scanf ("%$s",s) && strcmp (s, "EndOfText™) !=0)
{
for (i=0; i<strlen(s); i++)
{
if (!isalpha(s[il))
s[il=" "';
if(!islower(s[i]))
s[i]=tolower(s[i]);
}
if (strcmp(s," ") !=0)
{
strcat (text, s);

strcat (text," ™) ;

for (i=0; i<strlen (text); i++)
{
if (text[i]!=" ")
s[j++]l=text[i];

else
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found=0;
s[J1="\0";
J=0;
for (k=0; k<index; k++)
if(strcmp(v([k].str,s)==0)
{
v[k].fregt++;
found=1;
}
if (found!=1)
{
strcpy (v[index] .str, s);
v[index].freg=1;

index++;

}
for (i=0; i<index; i++)
if(v[i].freg==n)

printf ("$s\n",v[i].str);

return 0;
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#include <stdio.h>
#include <string.h>
#include <ctype.h>
struct Sfreq
{
char str[1024];
int freqg;
i
int main ()
{
char s[61], text[l024]="";
int n, 1, j, k, index=0, found=0;

struct Sfreqg v[1024];

scanf ("%d", &n) ;
while (scanf ("%$s",s) && strcmp(s,"EndOfText™) !=0)
{
for (i=0; i<strlen(s); i++)
{
if (!isalpha(s[i]))
sfil="";
if(!islower(s[i]))
s[i]=tolower(s[i]);
}
if (strcmp(s," ") !=0)
{
strcat (text,s);

strcat (text," "),

}
J=0;
for (i=0; i<strlen (text); i++)

{

if (text[i]!=" ")
s[j++]l=text[i];

else

{
found=0;
s[3]1="\0";
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J=0;
for (k=0; k<index; k++)
if (strcmp(v([k].str,s)==0)
{
v[k].fregt++;
found=1;
}
if (found!=1)
{
strcpy(v[index] .str,s);
v[index].freg=1;

index++;

}
for (i=0; i<index; i++)
if(v[i].freg==n)

printf ("$s\n",v[i].str);

return 0;
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73 #include <stdio.h>
#ipnctude <sodriboh>
#include <string.h>
void inverse (char *ptr);
int main ()
{
FILE *inp;
char invoice[7][9]={"79721354","10175755","59029610",
"13492740","22791838","12994137","505"};
char myInvoice[9], myCopy[9], temp[9];

int i, j, win, count=0;

inp=fopen ("73.txt","x");
while (fscanf (inp, "%s",myInvoice) !=EOF)
{
win=0;
strcpy (myCopy,myInvoice) ;
for (1=0; 1<=2; 1i++)
if (strcmp (invoice[i],myCopy)==0)
{
win=9;
break;
}
if (win==0)
{
for (1=3; 1<=5; 1i++)
if (strcmp (invoice[i],myCopy)==0)
{
win=8;

break;

}
if (win==0)
{
inverse (myCopy) ;
for (i=3; i<=5; i++)
{
strcpy (temp, invoice[i]);
inverse (temp) ;

for (3=7; 3>2; Jj—--)
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if (strncmp (temp,myCopy, j)==0)
{

win=7j;

break;

}

if(win) break;

}

if (win==0)

{
strcpy (temp, invoice[6]) ;
inverse (temp) ;
if (strncmp (temp, myCopy, 3)==0)

win=3;

}

if (win)

{
count++;
printf ("4—FEHERE: $s",myInvoice);
switch (win)

{

case 9:
printf ("\t F7EHHE 200 BT \n"); break;
case 8:
printf ("\t T HESE 20 Eyr!\n"); Dbreak;
case 7:
printf ("\t 7 4% 4 BEyC!'\n"); Dbreak;
case 6:
printf ("\t 7 =4% 1 EJyC!'\n"); break;
case 5:
printf ("\t 7 VU#E 4 ffyC!\n"); Dbreak;
case 4:
printf ("\t 7 FAHE 1 ffyC!\n"); break;
case 3:

printf ("\t TR 2 Hir!\n");

}

if (count==0)

printf ("FERIR/ KA T | SFEESSTI! \n") ;
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return 0;
}
void inverse (char *ptr)
{
char temp;
int i1, j, len;
len=strlen (ptr);
for (i=0, j=len-1; i<len/2; i++,j--)
{
temp=* (ptr+3j);
*(ptr+j)=*(ptr+i);
* (ptrt+i)=temp;
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#include <stdio.h>

#include <string.h>

void inverse (char *ptr);

int main ()

{

FILE *inp;

char invoice[7][9]={"79721354","10175755","59029610",
"13492740","22791838","12994137","505"};

char myInvoice[9], myCopy[9], temp[9];

int i, j, win, count=0;

inp=fopen ("73.txt","r");
while (fscanf (inp, "%s",myInvoice) !=EOF)
{
win=0;
strcpy (myCopy,myInvoice) ;
for (1=0; 1<=2; 1i++)
if (strcmp (invoice[i],myCopy)==0)
{
win=9;
break;
}
if (win==0)
{
for (1=3; 1<=5; 1i++)
if (strcmp (invoice[i],myCopy)==0)
{
win=8;

break;

}
if (win==0)
{
inverse (myCopy) ;
for (i=3; i<=5; i++)
{
strcpy (temp, invoice[i]) ;
inverse (temp) ;
for (3=7; 3>2; J--)
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if (strncmp (temp, myCopy, j)==0)
{

win=7j;

break;

}

if(win) break;

}

if (win==0)

{
strcpy (temp, invoice[6]) ;
inverse (temp) ;
if (strncmp (temp, myCopy, 3)==0)

win=3;

}

if (win)

{
count++;
printf ("$s\n",myInvoice);
switch (win)

{

case 9:
printf ("2000000\n"); break;
case 8:
printf ("200000\n"); break;
case 7:
printf ("40000\n"); break;
case 6:
printf ("10000\n"); break;
case 5:
printf ("4000\n"); break;
case 4:
printf ("1000\n"); break;
case 3:

printf ("200\n") ;

}
if (count==0)
printf ("0\n") ;
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return 0;
}
void inverse (char *ptr)
{
char temp;
int i, j, len;
len=strlen (ptr);
for (i=0, j=len-1; i<len/2; i++,j--)
{
temp=* (ptr+3j);
*(ptr+j)=*(ptr+i);
* (ptrt+i)=temp;
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74 #include <stdio.h>
#inelude<cotdiib >
char digit[25];
int n;
void dfs(int k);
int main ()

{

int 1, j, bits;

printf ("FEEAALITE ")

scanf ("%d", &n) ;

printf ("$d fiLJC Gray % : \n",n) ;

for (i=0; i<n; i++)
digit[i]='0";

digit[n]='\0";

dfs (0) ;

printf ("\n");

return 0;
}
void dfs (int k)
{
if (k==n)
{
printf ("%$s\t",digit);
return;
}
dfs (k+1) ;
digit[k]="'0"+"'1"-digit[k];
dfs (k+1) ;
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#include <stdio.h>
char digit[25];
int n;

void dfs (int k);
int main ()

{

int 1, j, bits;

scanf ("%d", &n) ;

for (1i=0; i<n; i++)
digit[i]='0";

digit[n]='\0";

dfs (0) ;

printf ("\n");

return 0;
}
void dfs (int k)
{
if (k==n)
{
printf ("$s\t",digit);
return;
}
dfs (k+1) ;
digit[k]="'0"+"'1"-digit[k];
dfs (k+1) ;
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75 #include <stdio.h>

#ipnctude <sodriboh>

#include <math.h>

struct student

{
int id;
int score;

i

int main ()

{
char correct[51], ans[51];
int 1=0, j, n, c, wrong[50]={0};
struct student stul[o60];
FILE *inp, *outp;

inp=fopen ("75.txt","x");
outp=fopen ("75 out.txt","w");
fscanf (inp, "%d%s", &n, correct) ;
while (fscanf (inp, "%d%s", &stu[i] .id, ans) !=EOF)
{

c=0;

for (7=0; j<n; j++)

if (correct[j]==ans[]])
c++;
else
wrong[J]++;

stu[i++] .score=ceil (100.0/n*c);
}
fprintf (outp, "\t\t FEKEH S \n") ;
fprintf (outp, "HEYE") ;
for(j=1; j<=n; j++)

fprintf (outp, "%44d", j);
fprintf (outp, "\n&FE") ;
for (7=0; j<n; j++)

fprintf (outp, "%$4c", correct[]]);
fprintf (outp,"\n ID\t Z3E{\n");
for (7=0; j<i; j++)

fprintf (outp, "$d\t%d\n",stul[j].id,stul]j] .score);
fprintf (outp, " REGRE") ;
for(j=1; j<=n; j++)
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fprintf (outp, "%44d",Jj);
fprintf (outp, "\n §EERTHE") ;
for (7=0; j<n; j++)

fprintf (outp, "%$44d",wrong(j]);
fclose (inp) ;
fclose (outp) ;

return 0;
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#include <stdio.h>

#include <math.h>

struct student

{
int id;
int score;

i

int main ()

{
char correct[51], ans[51];
int 1i=0, j, n, c, wrong[50]={0};
struct student stul[60];
FILE *inp, *outp;

inp=fopen ("75.txt","r");
outp=fopen ("75 out.txt","w");
fscanf (inp, "%d%s", &n, correct) ;
while (fscanf (inp, "%d%s", &stu[i] .id, ans) !=EOQOF)
{

c=0;

for (7=0; j<n; j++)

if (correct[j]==ans[j])
c++;
else
wrong[J]++;

stu[i++] .score=ceil (100.0/n*c) ;
}
for(j=1; j<=n; j++)

fprintf (outp, "%44",Jj);
fprintf (outp, "\n") ;
for (7=0; j<n; j++)

fprintf (outp, "%4c",correct[]j]);
fprintf (outp, "\n") ;
for (7=0; j<i; j++)

fprintf (outp, "$d\t%d\n",stul[]j].id,stul]j].score);
for(j=1; j<=n; j++)

fprintf (outp, "%$4d4d", 3) ;
fprintf (outp, "\n") ;
for (7=0; j<n; j++)
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fprintf (outp, "%44d",wrong[j]);

fclose (inp) ;
fclose (outp) ;

return 0;
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76 #include <stdio.h>
#include <stdlib.h>
#include <string.h>
#define MAXSTACK 10
double stack[MAXSTACK];
int top = -1;
void push (double d);
double pop() ;
int main ()

{
char s[21];

double num, a, b;

printf (">");
scanf ("%s",s);
while (strcmp (s, "quit") '=0)
{
if (strcmp (s, "push")==0)
{
scanf ("$1£f", &num) ;
push (num) ;
}
else if (strcmp (s, "pop")==0)
{
num=pop () ;
if (num!=-1)
printf ("%.2f\n", num) ;
}
else if(strcmp(s,"+")==0)

{

if (top==0 || top==-1)
printf ("HEEITARE » NELETHE\n") ;
else
{
a=pop () ;
b=pop () ;
push (a+b) ;
}
}
else if(strcmp(s,"-")==0)
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if (top==0 || top==-1)

printf ("HEEITARE 0 AELETE\n") ;
else
{

a=pop () ;

b=pop () ;

push (b-a) ;

}

else if(strcmp(s,"*")==0)

{

if (top==0 || top==-1)

printf ("EEITARE 0 NELETE\n") ;
else
{

a=pop () ;

b=pop () ;

push (a*b) ;

}
else if (strcmp(s,"/")==0)

{

if (top==0 || top==-1)

printf ("HEEITARE 0 AELETE\n") ;
else
{

a=pop () ;

b=pop () ;

push (b/a) ;

}
printf (">");

scanf ("%s",s);

return 0;

}
void push (double d)
{
if (top==MAXSTACK-1)
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printf ("Full\n");

else
stack[++top]l=d;
}
double pop ()
{
if (top==-1)
{

printf ("Empty\n") ;

return -1;;
}

else

return stack[top--];
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#include <stdio.h>
#include <stdlib.h>
#include <string.h>
#define MAXSTACK 10
double stack[MAXSTACK];
int top = -1;
void push (double d);
double pop () ;
int main ()
{
char cmd[100][1007];
char s[21];
double num, a, b;
int 1=0;
while (scanf ("%$s",s))
{
strcpy (cmd[i++],s);
if(strcmp (s, "quit")==0)
break;
}
i=0;
while (strcmp (cmd[i], "quit™) !=0)
{
strcpy(s,cmd[i]) ;
if (strcmp (s, "push")==0)
{
i++;
num=atoi (cmd[i]) ;
push (num) ;
}
else if (strcmp (s, "pop")==0)
{
num=pop () ;
if (num!=-1)
printf ("%$.2f\n", num) ;
}
else if(strcmp(s,"+")==0)
{
if (top==0 || top==-1)
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printf ("Error\n") ;
else
{

a=pop () ;

b=pop () ;

push (a+b) ;

}
else if(strcmp(s,"-")==0)
{
if (top==0 || top==-1)
printf ("Error\n") ;
else
{
a=pop () ;
b=pop () ;
push (b-a) ;

}
else if(strcmp(s,"*")==0)
{
if (top==0 || top==-1)
printf ("Error\n") ;
else
{
a=pop () ;
b=pop () ;
push (a*b) ;

}
else if (strcmp(s,"/")==0)
{
if (top==0 || top==-1)
printf ("Error\n") ;
else
{
a=pop () ;
b=pop () ;
push (b/a) ;
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i++;
}
return 0;
}
void push (double d)
{
if (top==MAXSTACK-1)
printf ("Full\n");
else
stack[++top]l=d;
}
double pop ()
{
if (top==-1)
{
printf ("Empty\n") ;
return -1;;
}
else

return stack|[top--];
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77 #include <stdio.h>

int stack[1000000][3], mark([100][100]1[100], m, n, d;
char map[100][100], s[100];

const int dir[4][2]={0,1,1,0,0,-1,-1,0};

int work();

int main ()

{

int i, j, ans;

printf ("FE# A A/ Nm K n ") ;
scanf ("%$d%d", &m, &n) ;
printf ("GEEm ATRITIESE © ")
scanf ("%d", &d) ;
printf ("FHEAMIE © \n") ;
for (i=1; i<=m; i++)
{
scanf ("%s", s) ;
for(j=1; j<=n; j++)
map[i] [J]=s[]j-11;
}

ans=work () ;

if (ans>0)
printf ("EREEEAMATFRAVRER : $d\n", ans-1) ;
else

printf ("impossible\n") ;

return 0;

int work ()

{
int 1, j, %k, total, px, py, pd, tx, ty, td;

stack[1][0]=1;
stack[1][1]1=1;
stack([1 ][2]=d,
mark[1][1] [d]=
i=total=1;

while (i<=total) {
px=stack[i][0];
py=stack([i][1];
pd=stack[i][2];
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for (7=0; j<4; j++){
tx=px+dir[]j][0];
ty=py+dir[j][1];
if(tx>0 && tx<=m && ty>0 && ty<=n && \
map [tx] [ty]=='P' && !mark([tx][ty][pd])

stack[++total] [0]=tx;
stack[total] [1]=ty;
stack[total] [2]=pd;
mark[tx] [ty] [pd]=mark[px] [py] [pd]+1;
if (tx==m && ty==n)
return mark([tx] [ty] [pd];

}

tx=px;

ty=py;

td=pd;

for (k=1; k<=pd; k++) {
tx+=dir[3][0];

td--;
if(tx<=0 || tx>m || ty<=0 || ty>n)
break;
if(mapl[tx] [ty]=='P' && !mark[tx][ty][td]) {

stack[++total] [0]=tx;
stack[total] [1]=ty;
stack[total] [2]=td;
mark[tx] [ty] [td]=mark[px] [py] [pd]+1;
if (tx==m && ty==n)

return mark([tx] [ty] [td];
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#include <stdio.h>

int stack[1000000][3], mark[100]([100][100],

char map[100][100], s[1007];

const int dir[4]([2]={0,1,1,0,0,-1,-1,0};
int work();

int main ()

{

int i, j, ans;

scanf ("%$d%d", &m, &n) ;
scanf ("%d", &d) ;
for (i=1; i<=m; 1i++)
{
scanf ("%s",s);
for (j=1; j<=n; J++)
map[1] [J]=s[]-1];
}
ans=work () ;
if (ans>0)
printf ("%$d\n",ans-1);
else
printf ("impossible\n") ;

return 0;

int work()
{
int 1, j, %k, total, px, py, pd, tx, ty,
stack[1] [0
stack[1][1
stack[1][2
mark[1] [1]
i=total=1;
while (i<=total) {
px=stack[i][0];

14

1;
1;
d;

14

]
]
]
[

dl=

py=stack([i][1];
pd=stack[i][2];
for (7=0; Jj<4; j++){
tx=px+dir[]j][0];
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ty=py+dir[j][1];
if(tx>0 && tx<=m && ty>0 && ty<=n && \
map[tx] [ty]=='P' && !mark([tx][ty][pd])

stack[++total] [0]=tx;
stack[total] [1]=ty;
stack[total] [2]=pd;
mark[tx] [ty] [pd]=mark[px] [py] [pd]+1;
if (tx==m && ty==n)
return mark|[tx] [ty] [pd];

}

tx=px;

ty=py;

td=pd;

for (k=1; k<=pd; k++) {
tx+=dir[3][0];
ty+=dir[j][1];

td--;
if(tx<=0 || tx>m || ty<=0 || ty>n)
break;
if(mapl[tx] [ty]=='P' && !mark[tx][ty][td]) {

stack[++total] [0]=tx;
stack[total] [1]=ty;
stack[total] [2]=td;
mark[tx] [ty] [td]=mark[px] [py] [pd]+1;
if (tx==m && ty==n)

return mark([tx] [ty] [td];

i++;
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78 #include <stdio.h>
struct point
{
long x;
long y;
i
void bubble sort (double a[], int size);
int main ()
{
int 1, j, n, max, c, k, best;
struct point a[1500];
double slope[1500];

printf ("FEEAMGEAEHE ")
scanf ("%d", &n) ;
printf ("EFE AELs AEHE _EAYERE © \n", n) ;
for (i=0; i<n; i++)
scanf ("%$1d%1d", &al[i] .x, &a[i].vy)
best=0;
for (i=0; i<n; i++)
{
k=0;
max=0;
for (7=0; j<n; j++)
if(i!'=7j)
{
if(alj].x==ali].x)
max++,;
else
slope[k++]=(double) (al[j].y-ali]
}
bubble sort (slope, k) ;
c=1;
for (j=0; Jj<k; J++)
{
if(slope[j]l-slope[]j-1]>1e-8)
c=1;
else
c++;

if (c>max)
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max=c;
}
max++;
if (max>best)
best=max;
}
printf ("X EEEFsd [E%E A\n", best) ;

return 0;

void bubble sort (double a[], int size)
{
int i, j, tag;
double temp;
for (i=size-1; i>0 ; i--)
{
tag=0;
for (J=0; j<=i-1; J++)
if(aljl>alj+1])
{
temp=alJ];
aljl=alj+1];
aljtl]=temp;
tag=1l;
}
if(tag == 0)

break;
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#include <stdio.h>
struct point
{
long x;
long y;
i
void bubble sort (double a[], int size);
int main ()
{
int i, j, n, max, c, k, best;
struct point a[1500];
double slope[1500];

scanf ("%d", &n) ;
for (1=0; 1i<n; i++)
scanf ("%$1d%1d", al[i] .x, &al[i].vy)
best=0;
for (1=0; 1i<n; i++)
{
k=0;
max=0;
for (7=0; j<n; j++)
if(i!'=7)
{
if(alj].x==ali].x)
max++,;
else
slope[k++]=(double) (al[j].y-ali]
}
bubble sort (slope, k) ;
c=1;
for (7=0; j<k; j++)
{
if(slopel[j]l-slope[]j-1]>1e-8)
c=1;
else
c++;
if (c>max)

max=cy
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}
max++;
if (max>best)
best=max;
}
printf ("%$d\n",best) ;

return 0;

void bubble sort (double a[], int size)
{
int 1, j, tag;
double temp;
for (i=size-1; i>0 ; i--)
{
tag=0;
for (J=0; j<=i-1; J++)
if(aljl>alj+1])
{
temp=a[]];
aljl=alj+1l];
aljtl]=temp;
tag=1l;
}
if(tag == 0)

break;
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79 #include <stdio.h>
#include <stdlib.h>
struct student
{
int id;
char name[21];
int s num;
i
struct school
{
int code;
char sname[21];
i
typedef struct student STU;
typedef struct school SCHOOL;
int main ()
{
FILE *inpl, *inp2;
STU stu[l01];
SCHOOL sch([21];
int i=1, j, n, s, a, b, c, accept[21][101]={0}, no[21], score;

inpl=fopen ("79 2.txt","r");

while (fscanf (inpl, "$d%s%d", &sch[i] .code,sch[i].sname, &nol[i]) !=E
OF)
i++;
s=i-1;
i=1;

inp2=fopen("79 1.txt","r");

while (fscanf (inp2, "$d%s%d%d%d%sd", &stu[i].id,stul[i] .name, &score,
&a, &b, &c) '=EOF)
{
stuli].s num=0;
if(a>0 && nolal>acceptl[a] [0])
{
acceptl[a] [0] ++;
acceptla] [accept[a] [0]]=1i;

stuli].s num=a;
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}

}
else 1f (b>0 && nol[b]l>accept[b][0])

{
accept[b] [0] ++;
accept[b] [accept[b] [0]]=1i;
stuli].s num=b;
}
else 1f (c>0 && nol[c]>accept[c][0])
{
accept[c] [0]++;
accept[c] [accept[c] [0]]=1i;
stuli].s num=c;
}
i++;

n=i-1;
printf ("ERCHEAREE D \n");
for(i=1; i<=s; i++)

{

",stulaccept([i] [J]].id,stulaccept[i] []j]].name);

}

printf ("$s | ",sch[i].sname);
for (j=1; Jj<=accept[i][0]; Jj++)
printf ("%d

printf ("\n");

printf ("EEHEREE  \n");
for(i=1; i<=n; i++)

{

printf ("sd\t%s\t%s\n",stuli].id,stu[i].name,sch[stul[i].s num]

if(stu[i].s num!=0)

name) ;

}

else

printf ("$d\t%s\t%s\n",stuli].id,stul[i] .name, ") L") ;

fclose (inpl);

fclose (inp2);

return 0;
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& X A
#include <stdio.h>
#include <stdlib.h>
struct student
{
int id;
char name[21];
int s num;
i
struct school
{
int code;
char sname[21];
i
typedef struct student STU;
typedef struct school SCHOOL;
int main ()
{
FILE *inpl, *inp2;
STU stu[l01];
SCHOOL sch([21];
int i=1, j, n, s, a, b, c, accept[21][101]={0}, no[21], score;

inpl=fopen ("79 2.txt","r");

while (fscanf (inpl, "$d%s%d", &sch[i] .code,sch[i].sname, &no[i]) !=E
OF)
i++;
s=i-1;
i=1;

inp2=fopen ("79 1.txt","r");

while (fscanf (inp2, "$d%s%d%d%d%sd", &stu[i].id, stul[i] .name, &score,
&a, &b, &c) '=EOF)
{
stuli].s num=0;
if(a>0 && nolal>acceptl[a] [0])
{
acceptla] [0]++;

acceptla] [accept[a]l [0]]=1;
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stuli].s num=a;
}
else 1f (b>0 && nol[b]>accept([b][0])
{
accept[b] [0] ++;
accept[b] [accept[b] [0]]=1i;
stuli].s num=b;
}
else 1f(c>0 && no[c]>accept[c][0])
{
accept[c] [0]++;
accept[c] [accept[c] [0]]=1i;
stuli].s num=c;
}
i++;
}
n=i-1;
for (i=1; i<=s; 1i++)

{

printf ("$s | ",sch[i].sname);
for (j=1; Jj<=accept[i][0]; J++)
printf ("%d %S
",stulaccept[i] [J]].id,stulaccept[i] []j]].name);
printf ("\n");
}
for(i=1; 1i<=n; 1i++)
{
if(stu[i].s num!=0)
printf ("sd\t%s\t%s\n",stuli].id,stu[i].name,sch[stul[i].s num].s
name) ;
else

printf ("$d\t%s\t%s\n",stuli].id,stul[i] .name,”"0");
}
fclose (inpl);
fclose (inp2);

return 0;
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80 #include <stdio.h>
H#imelude—<sastdliib >
int main ()

{

int man[100][100], lady[100][100],

int p[100], g[l100], n;
int 1, 3, k, b, s, t;

printf ("iEEARHE - ") ;
scanf ("%d", &n) ;

printf ("B LHIHEF :\n") ;
for(i=1; i<=n; i++)

for(j=1; j<=n; j++)

scanf ("%d", &man[i] [J]) s

printf ("ZLHEHB AP \n") ;
for(i=1; i<=n; i++)
for (j=1; j<=n; J++)
{
scanf ("%d", &k) ;
lady[1][j]=k;
flagli] [k]=]

for (i=1; i<=n,; i++)

J=manf[i] [p[i]];
1f(ql3]==0)
aljl=i;
else
{
b=0;
s=flag[j][i];
t=flag[J] [ql]]];
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if(s>t)
pli]++;

else

plaljl]++;
gljl=1i;

}

for (i=1; i<=n; 1i++)

printf ("Ssd LB LR L 4R HSd\n", i, man (1] [p[i]]);

return 0;
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#include <stdio.h>

int main ()

{
int man[100][100], lady[100][100],
int p[100], g[l00], n;
int 1, 3, k, b, s, t;

scanf ("%d", &n) ;
for (i=1; i<=n; 1i++)
for (J=1; j<=n; Jj++)
scanf ("%d", &man[i] [j]);
for (i=1; i<=n; 1i++)
for (J=1; j<=n; Jj++)
{
scanf ("%d", &k) ;
lady[i] [J]1=k;
flag[i]l [k]=3;

plil=1;
b=0;
while (!b)
{

b=1;

s=flag[J][1]7
t=flag[J] [ql]]];
if (s>t)

plil++;

else
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plaljl]l++;
gljl=1i;

}
for (i=1; i<=n,; i++)
printf ("%$d %d\n",i,man[i] [p[i]]):

return 0;
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81 #include <stdio.h>
#ipctude <stdlib.h>
#define INFINITE 999999999
int flow[8][8],cost[8][8];
int from[8],dis[8];
int bellman();
int main ()

{

int 1, j, k, min, total=0;

printf ("A~ B~ C ={ERWIGFREME © ") ;
for (i=1; i<=3; i++)
scanf ("sd", &flow[0] [1]) ;
printf ("H ~ Z ~ R=HTHERTFEDTE ") ;
for (i=4; 1i<=6; i++)
scanf ("sd", &flow[i][7]);
printf ("A -~ B~ C (ARG EFWERE - ") ;
for (i=1; i<=3; i++)
{
scanf ("%d", &cost[0] [1]) ;
cost[i][0]=-cost[0][4i];
}
printf ("{E={ERGHELH - £ - W=THAYENIES : ") ;
for (i=1; i<=3; i++)
for (j=4; j<=6; J++)
{
flow([i] [J]=INFINITE;
scanf ("%d", &cost[i][]]) >
cost[j] [i]=-cost[i] []];
}
while (bellman())
{
min=INFINITE;
for (i=7; 1i>0; i=from[i])
if(min>flow[from[i]][i])
min=flow[from[i]] [i];
total+=dis[7]*min;
for (i=7;1i>0;i=from[i])
{

flow[from[i]] [i]-=min;
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flow[i] [from[i]]+=min;

}
}
printf ("EK{EA~ B~ C ={EEN
printf ("%d $d\n", flow([4][1],
printf ("ER{EA -
printf ("%d %$d\n", flow([5][1],
printf ("ERHE A~ B~ C ={EERY
printf ("%d %d %d\n", flow[6] [1]
printf ("FFFEEH  5d\n", total)

return 0;

}
int bellman ()

{

int i, 7,

for (i=1,; 1<8;
=INFINITE;
for (i=0; i<7;
for (§=0;
for (k=0;
if(flow[j] [

dis[i]

{

dis]

from[k

}

return

(dis[7

j<8;
k<8;

k]

flow([4][2],

i I FH T ARDAEE - )

flow[4][3]):;

B+ C =(EHRIMSIES] Z T HATHH A : )

i++)

i++)

J+t)

k++)

]==INFINITE? O

k]>0 && dis|

flow[5][2],

=dis[jl+cost[]] [k];

: 1)
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#include <stdio.h>

#define INFINITE 999999999
int flow[8][8],cost[8][8];
int from[8],dis[8];

int bellman();

int main ()

{

int 1, j, k, min, total=0;

for (i=1; 1<=3; 1i++4)
scanf ("sd", &flow[0] [1]) ;
for (i=4; 1i<=6; i++)
scanf ("sd", &flow[i][7]);
for (i=1; 1<=3; 1i++)
{
scanf ("%d", &cost[0] [1]) ;
cost[i][0]=-cost[0][d1i];
}
for (i=1; 1<=3; 1i++4)
for(j=4; j<=6; Jj++)
{
flow([i] [J]=INFINITE;
scanf ("%d", &cost[1i][3])
cost[j][i]=-cost[i][]];
}
while (bellman())
{
min=INFINITE;
for (i=7; 1i>0; i=from([i])
if(min>flow[from[i]][i])
min=flow[from[i]][i];
total+=dis[7]*min;
for (i=7;1>0;i=from[i])
{
flow[from[i]][i]-=min;

flow[i] [from[i]]+=min;

}
printf ("%d %d %d\n",flow([4][1],flow[4][2],flow[4]([3]);
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printf ("%d %d %d\n",flow([5][1],flow[5][2],flow[5][3]);
printf ("%d %d %d\n",flow([6][1],flow[6][2],flow[6][3]);
printf ("%d\n", total);

return 0;
}
int bellman ()
{
int i, J, k;
for (i=1; 1<8; 1++)
dis[i]=INFINITE;
for (i=0; 1i<7; i++)
for (7=0; J<8; j++)
for (k=0; k<8; k++)
if(flow[j][k]>0 && dis[k]>dis[j]+cost[]][k])
{
dis[k]=dis[j]l+cost[]] [k];
from[k]=73;
}
return (dis[7]==INFINITE? O : 1);
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82 #include <stdio.h>

T RN I

+ 7 2 1
T L Ii< L e T L X7 e L1

[¢)]

#include <math.h>

long findk (long m);

void solve(long, long, long, long, long *, long *);
int main ()

{

long n, m, k, L, x, vy;

printf ("GFWAGTE ")
scanf ("%d", &n) ;
printf ("FEE AR ERE ") ;
scanf ("%d", &m) ;
k=findk (m) ;
L=2*k+1;
solve ((n>>1)+1-k, (n>>1)+1+k,L,L*L-m, &x, &Yy) ;
printf ("$d FEFHSAF|ESD fT\n", m, x, y) ;
return 0;
}
long findk (long m)
{
long p;
p=(int) sqgrt (m) ;
if (p*p==m && pé&l)
return (p-1)/2;
else
return (p-1)/2+1;
}
void solve(long row, long col, long L, long delta, long *rp, long
*cp)
{
*rp=row;
*cp=col;
if (delta<l)
{
*cp-=delta;
return;
}
delta-=(L-1);
*cp-=(L-1);
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if (delta<l)
{
*rpt+=delta;
return;
}
delta-=(L-1);
*rp+=(L-1);
if (delta<l)
{
*cpt=delta;
return;
}
delta-=(L-1);
*cp+t=(L-1);
*rp-=delta;
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& X A
#include <stdio.h>
#include <math.h>

long findk(long m);

void solve (long, long, long,
int main ()
{

long n, m, k, L, x, vy;

scanf ("%d", &n) ;
scanf ("%d", &m) ;
k=findk (m) ;
L=2*k+1;

long,

long *,

solve ((n>>1)+1-k, (n>>1)+1+k,L,L*L-m, &x, &Yy) ;

printf ("%
return 0;
}
long findk(long m)
{
long p;
p=(int) sqgrt (m) ;
if (p*p==m && p&l)

return (p-1)/2;
else
return (p-1)/2+1;

}
void solve (long row,
*cp)
{
*rp=row;
*cp=col;
if (delta<l)
{
*cp-=delta;
return;
}
delta-=(L-1);
*cp-=(L-1);
if (delta<l)
{

long col,

¥ 149 H
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long L,
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long *rp,
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*rpt=delta;
return;
}
delta-=(L-1);
*rp+=(L-1);
if (delta<l)
{
*cpt=delta;
return;
}
delta-=(L-1);
*cp+t=(L-1);
*rp-=delta;
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83 #include <stdio.h>
#define N 10
#define INF 1e9
int shortpath(int, int,int);
int g[N][N];

int main ()

{

int n,vl,v2,w,mincost;
int 1i,73;
for (1=0; i<N;i++)
for (3=0; J<N; j++)
gl1] [J]=INF;
printf ( "ﬂﬁaw&ﬂgtﬂlﬁﬁ\n"

scanf("°d" ) .
printf ( "*iﬁmkkz AFEEE\n") ;
while (1) {

scanf ("sd", &vl) ;
f(vl==-1) break;
scanf ("sd%d", &v2, &w) ;
glvl] [v2]=g[v2] [vl]=
}
printf ("FHHABIRTEREAG R IERN\n")
scanf ("sd%d", &vl, &v2) ;

mincost=shortpath (vl,v2,n);

if (mincost ==-1 || mincost==INF)
printf ("MEERFERE")
else

printf ("HRAREKA=%d", mincost) ;

return 0;

int shortpath(int vs, int vf, int n)

{

int cost[N],selected[N]={0};

int i,v,min;

V=Vs;
selected[v]=1;
for (1i=0;i<n;i++) costlil=glv][i];
while (v!=vf) {
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for (i=0; i<n && selected[i];i++);
if (i<n)
min=i;
else
return -1;
for (i=min+1l;i<n;i++)
if(!selected[i] && cost[i]<cost[min])
min=i;
v=min;
selected[v]=1;
for (i=0;1i<n; i++)
if(v!=1 && !selected[i])
if(cost[i]>cost[v]+glv][i])
cost([i]=cost[v]+gl[v][i]:;
}

return cost[vf];
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#include <stdio.h>
#define N 10
#define INF 1e9

int shortpath(int, int,int);
int g[N][N];

int main ()

{

int n,vl,v2,w,mincost;
int i,3;
for (1i=0; i<N; i++)
for (3=0;3<N; j++)
gl[i] [3]1=INF;
scanf ("%d", &n) ;
while (1) {
scanf ("%sd", &vl) ;
if(vl==-1) break;
scanf ("s$d%sd", &v2, &w) ;
glvl] [v2]=g[v2] [v1]=w;
}
scanf ("sd%sd", &vl, &v2) ;

mincost=shortpath (vl,v2,n);

if (mincost ==-1 || mincost==INF)

printf ("Q0"™);
else
printf ("$d",mincost) ;

return 0;

int shortpath(int vs, int vf,

{

int n)

int cost[N],selected[N]={0};

int i,v,min;

V=VS;

selected[v]=1;

for (1=0;i<n;i++) costlil=glv][i];

while (v!=vf) {

for (i=0; i<n && selected[il]l;i++);

if (i<n)
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min=i;
else
return -1;
for (i=min+1;i<n;i++)
if(!selected[i] && cost[i]l<cost[min])
min=i;
v=min;
selected[v]=1;
for (i=0;1i<n; i++)
if(v!=1 && !selected[i])
if(cost[i]>cost[v]+gl[v][i])
cost[i]=cost([v]+glv][i];
}

return cost[vi];
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84 #include <stdio.h>
#include <string.h>
int main ()
{
struct complex({
double rp;
double ip;
};
struct complex a, b, c;
char choose[5];

scanf ("%$s", &choose) ;
scanf ("$1£f%1£f%1£f%1f", &a.rp, &a.ip, &b.rp, &b.ip);
if (strcmp (choose, "add")==0)
{
c.rp=a.rptb.rp;
c.ip=a.iptb.ip;
printf ("(%$.2f%+.2f1)+(%.2f%+.2f1)
2f%+.2fi\n",a.rp,a.ip,b.rp,b.ip,c.rp,c.ip) ;
}
else if (strcmp (choose, "sub")==0)

{

o\°

c.rp=a.rp-b.rp;
c.ip=a.ip-b.ip;
printf ("(%.2f%+.2f1)-(%.2f%+.2f1)
2f%+.2fi\n",a.rp,a.ip,b.rp,b.ip,c.rp,c.ip) ;
}
else if (strcmp (choose, "mul™)==0)

{

o\°

c.rp=a.rp*b.rp-a.ip*b.ip;
c.ip=a.rp*b.ipta.ip*b.rp;
printf ("(%.2f%+.2f1)x(%.2f%+.2f1i)
2f%+.2fi\n",a.rp,a.ip,b.rp,b.ip,c.rp,c.ip) ;
}
else if (strcmp (choose,"div")==0)

{

o\°

c.rp=(a.rp*b.rp+ta.ip*b.ip)/ (b.rp*b.rp+b.ip*b.ip) ;
c.ip=(a.ip*b.rp-a.rp*b.ip)/ (b.rp*b.rp+b.ip*b.ip);
printf (" (%.2f%+.2f1)/(%.2f%+.2f1)
2f%+.2fi\n",a.rp,a.ip,b.rp,b.ip,c.rp,c.ip) ;
}

return 0;

o\°
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#include <stdio.h>
#include <string.h>

int main ()

{

o\°

o\°

o\°

o\°

struct complex({
double rp;
double ip;
i
struct complex a, b, c;
char choose[5];

scanf ("%$s", &choose) ;
scanf ("$1£f%1£f%1£f%1f", &a.rp, &a.ip, &b.rp, &b.ip);
if (strcmp (choose, "add")==0)
{

c.rp=a.rptb.rp;

c.ip=a.iptb.ip;

printf ("(%.2f%+.2f1)+(%.2f%+.2f1)

2f%+.2fi\n",a.rp,a.ip,b.rp,b.ip,c.rp,c.ip) ;

}
else if (strcmp (choose, "sub")==0)

{

c.rp=a.rp-b.rp;
c.ip=a.ip-b.ip;
printf ("(%.2f%+.2f1)-(%.2f%+.2f1)
2f%+.2fi\n",a.rp,a.ip,b.rp,b.ip,c.rp,c.ip) ;
}
else if (strcmp (choose, "mul")==0)

{

c.rp=a.rp*b.rp-a.ip*b.ip;
c.ip=a.rp*b.ipta.ip*b.rp;
printf ("(%.2f%+.2f1)x(%.2f%+.2fi) =
2f%+.2fi\n",a.rp,a.ip,b.rp,b.ip,c.rp,c.ip) ;
}
else if (strcmp (choose,"div")==0)
{
c.rp=(a.rp*b.rp+ta.ip*b.ip)/ (b.rp*b.rp+b.ip*b.ip) ;
c.ip=(a.ip*b.rp-a.rp*b.ip)/ (b.rp*b.rp+b.ip*b.ip) ;
printf (" (%.2f%+.2f1)/(%.2f%+.2f1) =
2f%+.2fi\n",a.rp,a.ip,b.rp,b.ip,c.rp,c.ip) ;
}

return 0;
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85 #include <stdio.h>
int main ()
{
int 1,Q,P,q,p;
int len noloop,len loop,counter2=0,counter5=0;

printf ("EASFEIRE ") ;
scanf ("%$d%sd", &Q, &P) ;
0=g=0Q%P;
if(Q==0) A
printf ("{EEREIR 0\n") ;
return 0;

}

p=P;
while (P%2==0) {
P/=2;

counter2++;
}
while (P%5==0) {
P/=5;
counterb++;

}

len noloop = ((counter2 > counterb) ? (counter2) : (counter)));
for (1=0; i!=len noloop; i++) {

qg*=10;

a%=p;

}
printf ("EEREIR") ;

Q = q;

len loop = 0;

do{
qg*=10;
printf ("%d",q/p) ;
qs=p;

len loop++;
if (len loop>10) {
printf("...");
break;
}
}while (g!=0Q) ;
return 0;
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#include <stdio.h>
int main ()
{
int 1,Q,P,q,p;
int len noloop,len loop,counter2=0,counter5=0;

scanf ("%dsd", &Q, &P) ;
0=g=Q%P;
1£(0==0) {
return 0;
}
p=P;
while (P%2==0) {
P/=2;
counter2++;
}
while (P%5==0) {
P/=5;
counterb++;
}
len noloop = ((counter2 > counterb) ? (counter2) : (counter)));
for (i=0; i!=len noloop; i++) {
qg*=10;
a%=p;
}
Q= qa;
len loop = 0;
do{
g*=10;
printf ("%d",q/p);
a%=p;
len loop++;
if (len loop>=10) {
printf("...");
break;
}
twhile (q!=Q) ;

return 0;
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86 #include <stdio.h>
H#imelude—~<otdlilb—b>
int a[100][1007;
int ¢[100], m, n, total;

struct node

{

int row;

int col;

} p[10000];

void sort (struct node pl],int size);

int main ()

{

int b[100][100], r[100]1[100], nc[10000];
int ¢[100]={0}, m, n, total, i, J, k=0, sum=0;

printf ("FEEAFEFEA/N (m,n) ") ;
scanf ("%$d%d", &m, &n) ;
printf ("EEEATEEITE  \n") ;
for (1=0; 1i<m; i++)
for (3=0; j<n; Jj++)
scanf ("%d",&al[i][3]) >
for (1=0; 1i<m; i++)
for (7=0; j<n; j++)
{
plk].row=i;
plk++].col=73;
}
sort (p, k) ;
total=0;
r(pl[0].row] [p[0].col]=total;
for (i=1; i<k; i++)
{
if(alpli].row] [p[i].col]l!=a[pl[i-1].row][p[i-1].col])
total++;
r(pl[i] .row] [p[i].col]=total;
}
for (1i=0; i<=total; i++)
ncl[i]l=n;
for (1=0; 1i<m; i++)
{
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sum=0;

for (7=0; j<n; j++)

{
if(J<nc[r[i][J]11])
{
clnclr[i][3]1]1+1]-=;
nclr[i][J11=3;
clnclr[i][J1]1+1]++;
}

sum+=c[j+1];

b[i] [J]=sum;

}
}
for (1=0; i<m; i++)
{

for (7=0; j<n; j++)
printf ("$5d",b[i]1[3]);
printf ("\n");

return 0;

}
void sort (struct node x[],int size)
{
int i, j, tag;
struct node temp;
for (i=size-1; i>0 ; 1i-- )
{
tag=0;
for (J=0; j<=i-1; J++)
if(alx[j].row] [x[]j].coll<al[x[j+1].row] [x[J+1].
{
temp=x[j];
x[J1=x[3+1];
x[j+tl]=temp;
tag=1l;
}
if (tag==0)
break;
}
}
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#include <stdio.h>

int af[l100][1007;

int ¢[100], m, n, total;

struct node

{

int row;

int col;

} p[10000];

void sort (struct node pl],int size);

int main ()

{

int b[100][100], r[100]1[100], nc[10000];
int ¢[100]={0}, m, n, total, i, J, k=0, sum=0;

scanf ("%$d%d", &m, &n) ;
for (i=0; i<m; 1i++)
for (7=0; j<n; j++)
scanf ("sd",&al[i][3]) >
for (i=0; i<m; 1i++)
for (7=0; j<n; j++)
{
plk].row=i;
plk++].col=73;
}
sort (p, k) ;
total=0;
r(pl[0].row] [p[0].col]=total;
for (i=1; i<k; i++)
{
if(alpli].row] [p[i].col]l!=a[pli-1].row][p[i-1].col])
total++;
r(pl[i] .row] [p[i].col]=total;
}
for (1=0; i<=total; i++)
ncl[i]l=n;
for (1=0; 1i<m; i++)
{
sum=0;
for (7=0; j<n; j++)
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if(J<nc[r[i][J]1])

{
clnclr[1][3]1]1+1]-=;
nclr[i] [J1]1=3;
clnclr[1][J]]1+1]++;

}

sum+=c[j+1];

b[i] [J]=sum;

}
}
for (1=0; i<m; i++)
{

for (7=0; j<n; j++)
printf ("$5d",b[1]1([]]);
printf ("\n");

return 0;

}
void sort (struct node x[],int size)
{
int i, j, tag;
struct node temp;
for (i=size-1; 1i>0 ; 1i-- )
{
tag=0;
for (j=0; j<=i-1; J++)
if(alx[j].row] [x[]j].coll<alx[j+1].row] [x[J+1].
{
temp=x[]];
x[J1=x[3+1];
x[Jj+tl]=temp;
tag=1l;
}
if (tag==0)
break;
}
}
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87 #include <stdio.h>

#define INFINITE 10000

#define t elevator 4

#define t stop 10

#define t walk 20

int main ()

{
int 1, j, k, p, n, walktime, t;
int nfloor[35], al[35][35]={0};

printf ("FEEAGREBEEE ")
scanf ("%d", &n) ;
printf ("ALAESEEEIE 1 ") ;
for (i=0; i<n; i++)
scanf ("%d", &nfloor[i]);
for (3=0; j<n; Jj++)
al[32][j]=INFINITE;
for (i=31; i>=1; i--)
for (j=n-1; j>=0; j--)
{
ali][J]l=ali+1l][J]+t elevator;
walktime=0;
for (k=7j; k<=n-1; k++)
{
if (walktime<abs (nfloor[k]-1)*t walk)
walktime=abs (nfloor[k]-1)*t walk;
if (k<n-1)
{
t=al[i] [k+1];
if(1>1) t+=t stop;
if (walktime>t)
p=walktime;
else
p=t;
}
else
p=walktime;
if (p<ali] [§]1)
{
alil [J]=p;

}
}
printf ("Ff&—E AFZEFFERFL : sa ¥ \n",a[1]1[0]);
return 0;
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#include <stdio.h>
#define INFINITE 10000
#define t elevator 4
#define t stop 10
#define t walk 20

int main ()

{

int 1, j, k, p, n, walktime, t;
int nfloor[35], al[35][35]1={0};

scanf ("%d", &n) ;

for (i=0; i<n; 1i++)

scanf ("%d", &nfloor[i]);

for (7=0; j<n; j++)
al[32][j]=INFINITE;

for (i=31; i>=1; i--)
for (j=n-1; 3>=0; j--)
{

ali][J]l=ali+1l][J]+t elevator;

walktime=0;
for (k=7j; k<=n-1; k++)
{

if (walktime<abs (nfloor[k]-1i)*t walk)
walktime=abs (nfloor[k]-1)*t walk;

if (k<n-1)
{
t=al[i] [k+1];
if(1>1) t+=t stop;
if (walktime>t)
p=walktime;
else
p=t;
}
else
p=walktime;
if(p<alil [J1)
{
alil [J]=p;

}
printf ("$d\n",a[1]11[0]);
return O;
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88 #include <stdio.h>
int main ()
{
int a[l110][110], next[110], head, n;
int i, J, k;

printf ("FEEATIFE ") ;
scanf ("%d", &n) ;
printf ("EEH A LIERIAYRARE © \n") ;
for (i=0; i<n; i++)
{
for (3j=0; Jj<n; J++)
scanf ("%d",&al[i][3]) >
next[i]=-1;
}
head=0;
for (i=1; i<n; i++)
{
if(al[i] [head])
{
next [1]=head;
head=i;
continue;
}
Jj=head;
k=next[j]:;
while (k!=-1)
{
if(aljl[1] && alillk])
break;
Jj=k;
k=next[j]:;
}

next[1i]=k;

next[j]=1;

}

printf ("TAEFFHIR:") ;

for (i=0; i<n; i++)

{
printf ("$3d", head+l) ;
head=next [head];

}

printf ("\n");

return 0;
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#include <stdio.h>

int main ()

{
int a[110][110], next[110],
int 1, 3, k;

scanf ("%d", &n) ;
for (i=0; i<n; i++)
{
for (7=0; j<n; j++)
scanf ("%d", &al[i]1[7]);
next[i]=-1;
}
head=0;
for (i=1; i<n; i++)
{
if(al[i] [head])
{
next[i]=head;
head=i;
continue;
}
j=head;
k=next[j];
while (k!=-1)
{
if(alj]1[1i] && ali]l[k])
break;
j=k;
k=next[j];
}

next[1]=k;

next[j]=1;

}

for (i=0; i<n; i++)

{
printf ("$3d", head+l) ;
head=next [head];

}

printf ("\n");

return 0;
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89 #include <stdio.h>
#define MAX 80
void postfix(char *, char *);
int priority(char);
int main ()
{
char input[MAX];
char output[MAX] = {'\0'};

printf ("EAFFFEER ") ;
scanf ("%$s", input);
postfix (input, output);
printf ("%$s\n", output);

return 0;

void postfix(char *infix, char *post)
{
char stack[MAX] = {'\0'};
int 1 = 0, j=0;
int top = 0;
while (infix[i] != '"\0'") {
switch(infix[i]) {
case '(':
if (top < MAX-1)
stack[++top] = infix[i];
break;
case '+': case '-': case '"*': case '/':

while (priority (stack[top]) >= priority(infix([i]))

post[Jj++] = stack[top--];
if (top < MAX-1)
stack[++top] = infix[i];
break;
case ') ':
while (stack[top] !'= '('")
post[Jj++] = stack[top--];
top—-—;
break;
default:
post[j++] = infix[i];
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}
i++;
}
while (top > 0)
post[j++] = stack[top--];

return;

int priority(char op) {
int p;
switch (op) {
case '+': case '-':
p = 1; break;
case '*': case '/':

p = 2; break;

p = 0; break;

return p;
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#include <stdio.h>
#define MAX 80
void postfix (char *, char *);
int priority(char);
int main ()
{
char input[MAX];
char output[MAX] = {'\0'};

scanf ("%$s", input);
postfix (input, output);
printf ("$s\n", output);

return 0;

void postfix (char *infix, char *post)
{
char stack[MAX] = {'\0'};
int 1 = 0, j=0;
int top = 0;
while (infix[i] != "\0'") {
switch(infix[i]) {
case ' (':
if (top < MAX-1)

stack[++top] = infix[i];
break;
case '"4+': case '-': case '*': case '/':

while (priority (stack[top]) >= priority(infix[i]))

post[j++] = stack[top--1;
if (top < MAX-1)
stack[++top] = infix[i];
break;
case ')':
while (stack[top] != '"(")
post[j++] = stack[top--1;
top—--;
break;
default:
post[j++] = infix[i];
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}
i++;
}
while (top > 0)
post[Jj++] = stack[top--];

return;

int priority(char op) {
int p;
switch (op) {
case '+': case '-':
p = 1; Dbreak;
case '*': case '/':

p = 2; break;

p = 0; break;

return p;
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90 #include <stdio.h>

void del (int *,int,int,int);

int main ()

{
int n,k,m,1i,3j;
printf ("#An, k, m{H:");
scanf ("%d %d %d", &n, &k, &m) ;
int alnl]l;
for (1i=0;1i<n;i++) al[i]=i+1;
del(a,n, k,m);
for (i=0;1i<n; i++)

if(ali]!=0) printf("%d ",alil):

return 0;

void del(int al[],int n,int k,int m)
{
int i, counter,pos;
for (counter=n, pos=-1; counter>m; counter--) {
i=0;
while (i<k) {
pos=(pos+l) %n;
if (a[pos]!=0)
i++;

alpos]=0;
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#include <stdio.h>
void del (int *,int,int,int);
int main ()
{
int n,k,m,1i,3j;
scanf ("%d %d %d", &n, &k, &m) ;
int al[n];
for (i=0;1i<n;i++) al[i]=i+1;
del(a,n, k,m);
for (i=0;1i<n; i++)
if(ali]!=0) printf("%d ",alil):

return 0;

void del (int al[],int n,int k,int m)
{
int i, counter,pos;
for (counter=n, pos=-1; counter>m; counter--) {
i=0;
while (i<k) {
pos=(pos+l) %n;
if (a[pos]!=0)
i++;

alpos]=0;
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